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CTET L1 Hindi L2 English P1

Topic:- CDP_P1_CTET

1) Children learn language with much ease upto a specific period of time because they are
especially responsive to environmental influences in that period. This period is known as
period of development.

(1) Sensitive
(2) Zonal
(3) Atypical

)

(4) Non-responsive

T4 THA T TH (=590 qate T qAg TLAAT F TATT AT Hi@d g #0599
FAT H F THELO0T TATET & A1T T 00AT F3d 2 | TF ATH 7l (4 il 5
FATY F FT H AT JTOIAT 2

(1) FaEefrer
(2) &l

(3) FAfare= (srmmaT™)
(4) F-wTa AT

[Question ID = 1][Question Description = CTET_P1_PART_1_CDP_SET_120_Q1]
1. 1 [Option ID = 1]
2. 2 [Option ID = 2]
3. 3 [Option ID = 3]
4. 4 [Option ID = 4]

2) A mother notices that one of her twins is progressing more quickly in learning to walk, than the
other. Which principle of development is associated with this variation in learning ?
(1) Development proceeds from head to toe among individuals.
(2) Development proceeds stage by stage among everyone.
(3) Development proceeds at different pace among different individuals.
)

(4) Development proceeds from general to specific in everyone.

T AU T TET 6 THAT UF qEAr TAT A A0 H FeA1 A rad H AT T 7
TITH T TE0 2 | HiEe § 2H Ter 7 = 1 SiE-A7 HET ey ?

()= d FEm AT asmgare |

(2) 2 THET § TETe 0-S94S 8T 2 |

(3) HAT-HT =T Al A TAFTT AT-HAT T F Zravr g |
(4) 7= Tt F Fasrre \rrrer 7 fAfores it A agar 2 |

[Question ID = 2][Question Description = CTET_P1_PART_1_CDP_SET_120_Q2]




1. 1 [Option ID = 5]
2. 2 [Option ID = 6]
3. 3 [Option ID = 7]
4. 4 [Option ID = 8]

3) Development is dependent upon
()] Genetic dispositions
(i)  Socio-cultural practices
(iiy  Physical environment
(1) (i) only
(2) (i) and (ii) only
(3) (ii) and (iii) only
(4) (i), (ii) and (iii)
EEDE R TRz IRl e B Al Ik R
(i) sraafoEF gafwat
(i) AT S T
(iii) | ATATET
(1) %= (i)
(2) FA (i) A (i)
(3) =T (ii) ST (iii)
(4) (i), (i) & (iii)
[Question ID = 3][Question Description = CTET_P1_PART_1_CDP_SET_120_Q3]
1. 1 [Option ID = 9]
2. 2 [Option ID = 10]

3. 3 [Option ID = 11]
4. 4 [Option ID = 12]

4) According to Jean Piaget's theory of Cognitive development, at which stage should a teacher
give problems to solve requiring 'seriation’ ?

(1) Sensorimotor
(2
3

(
(4) Formal operational

Preoperational

)
)
) Concrete operational

)

S TOaTsr & HsrareAs o gt % Jqa, deamas =1 55 qaer §
FHAGAT F HAHT T A FLA = 00 ZA7 AT 2

(1) FEARATHE

(2) TH-ATFATES

(3) = HiwaTH=

(4) A=t FiEaTeAT



[Question ID = 4][Question Description = CTET_P1_PART_1_CDP_SET_120_Q4]
1 [Option ID = 13]
2 [Option ID = 14]
. 3 [Option ID = 15]
4 [Option ID = 16]

A W N -

5) As per Jean Piaget’s theory, individuals strive to achieve the state of through
assimilation and accomodation.
(1) Equilibration
(2
3

(
(4) Misconception

)
) Disequilibration

) Perception

)

stie oSt & g & aqame, =3feF Aeaarenan T TEST & gy 7 w5
Teafa =1 9T 2 T IATH A2 ?

(1) =g

(2) FE

(3) TeTET AT

(4)99
[Question ID = 5][Question Description = CTET_P1_PART_1_CDP_SET_120_Q5]
1 [Option ID = 17]
2 [Option ID = 18]

3 [Option ID = 19]
. 4 [Option ID = 20]

A wWw N =

6) Manish, a 6-year-old boy, tends to see the world and the experiences of others from his own
viewpoint only and fails to consider other’s viewpoints.
This represents :

(1) Conservation
(2) Egocentrism
(3) Reversible thinking

(4) Scientific reasoning

W-AGT ST AR AT AT TAL F ATEAT FT FAT AT G0 IO H
AT 2 T THEN F IR FHAT § AqH T2Ar g |

(1) FTerm

(2) ATTHFrR T

(3) wfer=et =aa

G EEURETUEETII

[Question ID = 6][Question Description = CTET_P1_PART_1_CDP_SET_120_Q6]
1. 1 [Option ID = 21]
2. 2 [Option ID = 22]



3. 3 [Option ID = 23]
4. 4 [Option ID = 24]
7) According to Lawrence Kohlberg an individual at Law and Order orientation of moral

development will believe that

(1) Laws and rules must be obeyed to please others.

(2) Laws and authorities must be obeyed so that social system is maintained.
3) Laws and rules must be obeyed to avoid punishment.
)

(
(4) Laws and rules must be obeyed only if they fulfil our needs.

AT Flgaadl & Atd® @H & Hgied & AT UF =q{h S0 A1a% (5 0

FIA UHH =HFEGT T2 F 2, THHT 7 AT

(1) FTIAT F4T FHTHT FT AT AT AT 1 TG TG4 & (0T F2Aq1 A1 |

(2) FTIA TAT ATEFHITLAT T ATHAT FT T F2AT AT W FSTHT FIHTISTH TOTAT
T ST AT 2

(3) L FAT HFHT FT qTA T0E H T=T F A AT AR |

(4) T AT [RT=T 7 Trere THT FAT AR STa o A STAITHATA =l Tt
el

[Question ID = 7][Question Description = CTET_P1_PART_1_CDP_SET_120_Q7]

1. 1 [Option ID = 25]

2. 2 [Option ID = 26]

3. 3 [Option ID = 27]
4. 4 [Option ID = 28]

8) Which of the following theory is given by Lev Vygotsky ?
(1) Cognitive theory of moral development
(2) Psycho-dynamic theory of personality development
(3) Socio-cultural theory of cognitive development

(4) Developmental theory of attachment

o FEEE 7 e § & w-an g fEr g 2
(1) Afeer B =1 g g

(2) =the (3 1 g HEi

(3) TSI T FT AT AR A g
(4) w7 T gt

[Question ID = 8][Question Description = CTET_P1_PART_1_CDP_SET_120_Q8]
1. 1 [Option ID = 29]
2. 2 [Option ID = 30]
3. 3 [Option ID = 31]
4. 4 [Option ID = 32]



9) A student is struggling to solve a given guestion. As per Lev Vygotsky, in this situation, a
teacher should
(1) ignore the student and let him struggle alone.
(2) give hints and cues to student regarding next move,
(3) tell the correct answer immediately.
(4)

4) punish the student for not being able to solve the question.

e fEEmefT R 0 ge #T g T H T Fe0T L TE1 2 | O ATl &
ATAT, 39 Tufa & U= AeATIURT 7 4T FIAT A0 ?
(1) F=eft &1 dF=aEr FT 397 AU A I bl HIY F4d g 247 AT 0 |
(2) =TT T AT F=29 g Hova AT 29T 34 AT |
(3) HT& A1T 9% &1 SAT" Fq7 397 =02 |
(4) FAT FT g AT FHT T4 % 0 &A=y Fr 2{ved F771 AT |
[Question ID = 9][Question Description = CTET_P1_PART_1_CDP_SET_120_Q9]
1. 1 [Option ID = 33]
2. 2 [Option ID = 34]

3. 3 [Option ID = 35]
4. 4 [Option ID = 36]

10) In a progressive classroom, students’s focus should be on
(1) competiting with their peers
(2) rote memorising as much as possible
(3) winning tangible rewards such as trophy

(4) constructing the knowledge with active participation

e YRT{A ST Ter HeAT /), TEiat i B A Hiwd g Ay ?

(1) Fa= TEaTtsai 7 FioeTet Hif A
(2) foraaT 21 9% Ta9T F5efT=ha0r 7 2q
(3) T TZERTT S ZThRT ST il A
(4) BT IR 51T SO 997 &0 §iX

[Question ID = 10][Question Description = CTET_P1_PART_1_CDP_SET_120_Q10]
1. 1 [Option ID = 37]
2. 2 [Option ID = 38]
3. 3 [Option ID = 39]
4. 4 [Option ID = 40]

11) Which of the following is notf one of the multiple intelligences proposed by Howard Gardner ?
(1) Linguistic intelligence
(2) Emotional intelligence
(3) Spatial intelligence

(4) Musical intelligence



giAT MEAT ZT Tiauriad ag-qfeal o meatertad § | Fia-at ot 7gle ?

(1) wmre T
(2) wrEATHE g
(3) TR e
(4) =T Fhz

[Question ID = 11][Question Description = CTET_P1_PART_1_CDP_SET_120_Q11]
1. 1 [Option ID = 41]
2. 2 [Option ID = 42]
3. 3 [Option ID = 43]
4. 4 [Option ID = 44]

12) Assertion (A) .
According to the National Education Policy 2020, all children up to the fifth standard should be
given education in their mother tongue.
Reason (R) :
Young children learn and understand meaningful concepts more quickly in their mother tongue.
Choose the correct option :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(3) (A) is true but (R) is false.

(4) Both (A) and (R) are false.

FIFIT (A)

TTeA foraT ifd 2020 F AGAT Gi=FA1 9% & T =21 H1 IT00 qaTar §
foreaT = ST TR |

FTTT(R) -

BIE T=F AT ATTATIT & ATHF ATATIONAT Tl AT S F HEd T THAT ¢ |
el Aoy 79 -

(1) (A) &7 (R) TET AL € &7 (R), (A) 31 AT =ATEAT F7AT ¢ |

(2) (A) &= (R) =TT TET € @t (R), (A) T 5L =TT 71 € |

(3) (A) HET & A+ (R) T & |

(4) (A) &7 (R) THT T2 |
1[Q1L1([ecs)ti9n |||3 =415 ]2][Question Description = CTET_P1_PART_1_CDP_SET_120_Q12]
2. 2 [Option ID = 46]

3. 3 [Option ID = 47]
4. 4 [Option ID = 48]




13) How should a teacher deal with gender stereotypes prevalent among students ?

(1) Promote gender typical roles among students.
(2) Present reaHife examples which counter stereotypes.
(3) Practice same gender-based grouping of students.

(4) Avoid discussions around gender issues in the classroom.

T FEITO 1 =iy | y=ioe Se7 wigarsi 7 B v [{oear =g 2

(1) = & sez-fAtire qifsrdt # i agmET 397 =T )
(2) FTEafAw-Ssfias & H#f8T U5 ST T qd w0 Al ST Siearal ol
FATT 3 |
(3) FE=TIET F UF T SSL-AGTd HHg FA19 AT |
(4) F&T | ST AT 2T T A1 Al FHeAl AT |
[Question ID = 13][Question Description = CTET_P1_PART_1_CDP_SET_120_Q13]
. 1 [Option ID = 49]
. 2 [Option ID = 50]

1
2
3. 3 [Option ID = 51]
4. 4 [Option ID = 52]

14) In a multicultural classroom, a teacher should

(1) promote cultural practices of dominant group only.
(2) promote cultural practices of disadvantaged groups only.
(3) negatively present cultural practices of dominant group.

(4) respect individual differences of students in terms of their socio-cultural experiences.

T AgA e o FAT H, AEATTH 1 AT FIAT 91120 ?

(1) AT T THG T AT TATAT 2h0 FATAAT AT AT |
(2) et qiEaT Fi=d qHET T HEFHaH TATA BT T AT AT |
(3) et FH T HIEF T TATAT T THTCeHF T FoeAl AT |
(4) TE=TTT & AT - g (aF AEAT o A& H Grshl 9 hd [qrdre &
TEATT FeAT A2 |
[Question ID = 14][Question Description = CTET_P1_PART_1_CDP_SET_120_Q14]
1. 1 [Option ID = 53]
2. 2 [Option ID = 54]

3. 3 [Option ID = 55]
4. 4 [Option ID = 56]




15) When assessment is done for student’s comprehension and understanding of a skill or lesson
during the learning and teaching process, it refers to

(1) Assessment for learning

)
(2) Assessment of learmning
3) Non-continous evaluation
)

(
(4) Summative evaluation

W wrFe et F B Frerer @9t @y o a9y av o F i sw
Toreqor wiara = ST T ST 8, 990 58 41 Fgl S1a1 g ?

(1) #AferTH & Form drwer

(2) ATERTH FT ATHAT

(3) FHTT TeATHA

(4) T Hei=he

[Question ID = 15][Question Description = CTET_P1_PART_1_CDP_SET_120_Q15]
1. 1 [Option ID = 57]
2. 2 [Option ID = 58]
3. 3 [Option ID = 59]
4. 4 [Option ID = 60]

16) Providing opportunities to all students for achieving their potential, irrespective of variation in
their abilities, is a key objective of classroom.

(1) Integrated

)

(2) Inclusive
) Special education
)

3
(4) Non-progressive

ot et #r 39 Fraara ¥ e 2 % qrasE 99w 9y o At
TR % To7T SAHT T=OT FHEAT (e Th1T Al FAT T 27 IZ9T ¢ ?

(1) T

(2) =TT
(3) fEerT forear
(4) sroiaefier

[Question ID = 16][Question Description = CTET_P1_PART_1_CDP_SET_120_Q16]
1. 1 [Option ID = 61]
2. 2 [Option ID = 62]
3. 3 [Option ID = 63]
4. 4 [Option ID = 64]



17) To cater to children from disadvantaged background, a teacher should

(1) give them a lot of all written work.
(2) find out more about their context and involve them in class discussion.
(3) make them sit separately in the class.

(4) ignore themn as they cannot interact with other students.

=T TS F F==a1 7 AT 7 & o7, 0% 90 1 F 120

(1) 572 gT AT Mg e 3
(2) 3 HE F AW T 3T AT T TATH F7 AT Ieg, HAT FFTH I0HA &7 |
(3) T2 FAT H AT 7 AST |
(4) Tvg FTAET T FIE A FT GrAT 5 91 FAq: 647 T2 FT TFHA 3 |
[Question ID = 17][Question Description = CTET_P1_PART_1_CDP_SET_120_Q17]
. 1 [Option ID = 65]
. 2 [Option ID = 66]

1
2
3. 3 [Option ID = 67]
4. 4 [Option ID = 68]

18) Which of the following learning disability impacts an individual's ability of balance, manual
dexterity and hand-eye coordination ?

(1) Dyslexia
(2) Dyscalculia
(3) Dysphasia

(4) Dyspraxia

eaferfea F F F-t dfdmrs gamrar BT =i F dgeq, arfiies [oomET
A ZT-ATT ATHSTET 0l STHAT 1 TATAT FHodl g 2

(1) T5TaFg

PARIREEETD
(3) ATaTARe
(4) TEAFH=T FFT

[Question ID = 18][Question Description = CTET_P1_PART_1_CDP_SET_120_Q18]
1. 1 [Option ID = 69]
2. 2 [Option ID = 70]
3. 3 [Option ID = 71]
4. 4 [Option ID = 72]

19) Which identifying characteristics are students with Autism are likely to have ?

(1) communication difficulties
(2) high urge to interact with all
(3) very low 1Q levels

(4) advanced social skills



A AT (ATf2eq) 7 A Fentdat § gg=m B @t g g & SwmaaT
WAT e ?
(1) =T § FHisATE
(2) 7T = AT o AT = A T=a
(3) A wfeer 1 aga w9 =17
(4) T T AT Frerer
[Question ID = 19][Question Description = CTET_P1_PART_1_CDP_SET_120_Q19]
1. 1 [Option ID = 73]
2. 2 [Option ID = 74]
3. 3 [Option ID = 75]
4. 4 [Option ID = 76]

20) Which of the following is notan identifying characteristic of student with ‘creativity’ ?

(1) Strong sense of curiosity
(2) Convergent thinking
(3) Higher-order problem solving skills

(4) Novel innovative ideas

fetertee § 7 F-A7 gerreas =t i wg=m =Hauar agie ?

(1) TorstraT &t Taer AT

(2) af¥mra 7=

(3) T=A-FALT THEAT THTETT FI9T
(4) TAET #5 A=

[Question ID = 20][Question Description = CTET_P1_PART_1_CDP_SET_120_Q20]
1. 1 [Option ID = 77]
2. 2 [Option ID = 78]
3. 3 [Option ID = 79]
4. 4 [Option ID = 80]

21) National Education Policy 2020 suggests that Education should be
(1) limited to textbook content.

(2) based on rote-memorisation of facts.
(3) directed to encourage competition among students.

(4) focused towards development of critical thinking.

Treaiy forar |ifa 2020 FqATAT g & forear

(1) wrErgEae it Awr-aeg 9% T g =ET )

(2) TET F HEEATHLOT I ATEATIA 2T AT |

(3) A== & i afaeTgt agm it 97F @ gHt Ay |
(4) FRTATHATHS =aw & HF 9T Fiexd gl J1e0 |




[Question ID = 21][Question Description = CTET_P1_PART_1_CDP_SET_120_Q21]
1 [Option ID = 81]
2 [Option ID = 82]
3 [Option ID = 83]
4 [Option ID = 84]

A W N -

22) Individual differences related to preferred learning styles of students in a classroom should be

(1) considered a hindrance to teaching-learning process
(2)
(3)
(4) respected and child-centric pedagogy should be adopted to fulfil these individual
requirements

eliminated with use of negative reinforcement

seen as a result of cognitive 'abnormalities’

T FHAT A FATay F FAaa Aty St § =ainaa da%l &1 FeAroET g
(1) AEATTA-ATENTT THAT T qTem 6 =7 F

(2) TS AT Z19T THaTT ST AT

(3) HATTHF “FHTATAAT 5 TIOMH & =9 § @ A0

(4) ITHT ATAAT TE T ATA-Hiiexd TATATE FT ATAET A0 AT I

[Question ID = 22][Question Description = CTET_P1_PART_1_CDP_SET_120_Q22]

1. 1 [Option ID = 85]
2. 2 [Option ID = 86]
3. 3 [Option ID = 87]
4. 4 [Option ID = 88]
23) A progressive classroom views teachers as and learners as
(1) Knowledge deliverers, passive reciepient of knowledge
(2) Dominant source of information, subordinate participants
(3) Facilitators, active participants in knowledge construction
(4) Dictator, docile bodies
T T 9fier 4T ALATIHT 0 =9 § qa1 foremta=t #r =
AT HEAT 2 |

(1) ST =T TETET, ST T AT Tt

(2) ST T THALT 1, AT TraarfT

(3) FETEF, T F G577 F Ti#AT Ta9wir

(4) ATATINE, ATSATHIT S
[Question ID = 23][Question Description = CTET_P1_PART_1_CDP_SET_120_Q23]
1. 1 [Option ID = 89]

2. 2 [Option ID = 90]
3. 3 [Option ID = 91]



4. 4 [Option ID = 92]

24) Ryan recently learned that ‘cooked’ is the past form of cook. After that Ryan is using ‘ed’ for
every change to past form such as broken instead of broked. This tendency to apply same rule
to everything suggests that children tend to their understanding.

(1) underestimate
(2) over regularise
(3) restrict

(4) bilingualise

e F 5 5w uger € s g T Avst F G o= F 9 ed @A F 9
95T AT T AAATA F GAFTA H T STAT g | TH SATTHEL T 16 4 915 AT 27
9157 FT GAFTA =T FeM % 70 g T AIAT 727 8 | T=31 517 A | 73w F1
27 29 H TA=fia 77 7 ag 72 ST AT AT AT wgir o

g |

(1) FH=T AlFA

(2) sfafataT

(3) wiaataa

(4) fgarfues
[Question ID = 24][Question Description = CTET_P1_PART_1_CDP_SET_120_Q24]
1. 1 [Option ID = 93]
2. 2 [Option ID = 94]

3. 3 [Option ID = 95]
4. 4 [Option ID = 96]

25) Brainstorming as a technique can be used to develop in children.
(1) Convergent thinking
(2) Functional fixedness
(3) Divergent thinking

(4) Response set

ST (FA=TTaer) F1 UF aae s & 7 d T=41 7 et T &
T ZEaHTer BT ST aRaT 2

(1) A= 7=

(2) T AT

(3) ATHAT T

(4) ST T==

[Question ID = 25][Question Description = CTET_P1_PART_1_CDP_SET_120_Q25]
1. 1 [Option ID = 97]
2. 2 [Option ID = 98]
3. 3 [Option ID = 99]



4. 4 [Option ID = 100]

26) In a constructivist classroom, a teacher should

(1) Give standard instructions to all children
(2) Make sure that every child achieves his/her potential to their best
(3) Expect all children to progress at the same rate

(4) Remain indifferent to the diverse needs of the children

TEATATET AT H U forersh 1w qgea g i =g ?

(1) =sfY F==1 Fr I Faer 347

(2) gfeTera w97 & Tea= F==1 AT A9aT A 99 9T = F The Fi7
(3) T F==T | THIT M T AN TEA il ATEAT FoAT

(4) F==t =t Ay dragT=warar F afq S TgAr

[Question ID = 26][Question Description = CTET_P1_PART_1_CDP_SET_120_Q26]
1. 1 [Option ID = 101]
2. 2 [Option ID = 102]
3. 3 [Option ID = 103]
4. 4 [Option ID = 104]

27) Which of the following is first step in the method of problem-solving ?

(1) Defining the problem

(2) Identification of the problem

(3) Exploration of relevant information
(4) Formulation of hypothesis

eaforfes § F F9-87 Fea-TaTET S 95T T Ogar I g ?

(1) FHEAT FT FEATT FAT
(2) TH=AT & UgA™

(3) ITHTTE SATAHT 1 F 1o
(4) aieTaT = o

[Question ID = 27][Question Description = CTET_P1_PART_1_CDP_SET_120_Q27]
1. 1 [Option ID = 105]
2. 2 [Option ID = 106]
3. 3 [Option ID = 107]
4. 4 [Option ID = 108]

28) In order to motivate students in primary school, what strategy should the teacher adopt ?

(1) Encourage competition for marks amongst individual students
(2) Use incentives, rewards and punishment as motivating factors for each activity

(3) Set standard goals for the entire class and have rigid parameters to assess achievement of
those goals

(4) Help children set goals as per their interests and support them in working towards the
same



bR = 10 o e I e 2 O e 70 O - e o e L e P

TR0 ?

(1) AT G & ST FHl 0 (0 TIAETAT Fl TIeAT T He]

(2) 9o AETE & T 9% A F 7T § GrEd, [TeR d@i7 3 F7
SUAET L

(3) T T F form wrer e Tt #¢ afte 37 orealt it STwfeer 1 Aoy
FH & [0 F2X ATHEE F

(4) T==T T ITHT 71 = AATE AT FAT F7 F T35 HL AF AT =7 F

FTH T2 | SAFT THAT Fe
[Question ID = 28][Question Description = CTET_P1_PART_1_CDP_SET_120_Q28]
1. 1 [Option ID = 109]
2. 2 [Option ID = 110]
3. 3 [Option ID = 111]
4. 4 [Option ID = 112]

29) Assertion (A) .
Along with cognitive development schools should ensure emotional well-being of students as
well.
Reason (R) :
Verbalisation of thoughts while working on a problem hinders problem solving skill.
Choose the correct option :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A) is true but (R) is false.

(4) Both (A) and (R) are false.

HTTFIT (A) :

AT e F A F=neadt 1 HeniEy 7 ararersn gogrl i
FA AR |

T (R) -

et T9eT/er 1 2 Fea au EEwl w5 Ao T T e §
JTET ETAATZ |

Her faseT =4 -

(1) (A) 3= (R) FT 721 § 7 (R), (A) Ft &7 =z F7ar ¢ |

(2) (A) 9T (R) =TT &gt & @t (R), (A) T Fg1 =mear 721 2 |

(3) (A) TET g «ee (R) T 2 |

(4) (A) 3% (R) FIT TATE |

[Question ID = 29][Question Description = CTET_P1_PART_1_CDP_SET_120_Q29]
1. 1 [Option ID = 113]



2. 2 [Option ID = 114]
3. 3 [Option ID = 115]
4. 4 [Option ID = 116]

30) Which of the following does nof contribute positively to the process of learning ?

(1) Malnutrition
(2) Collaborations with peers
(3) Divergent thinking

(4) Discussions

fFeAferfas 8 7 F-ar Aty 1 96637 § T T T TR dg1 ad1 §

?

(1) oo

(2) TH=HRTEAT & AT TgANT
(3) FTET A

(4) ==

[Question ID = 30][Question Description = CTET_P1_PART_1_CDP_SET_120_Q30]
1 [Option ID = 117]
2 [Option ID = 118]
3 [Option ID = 119]
4 [Option ID = 120]

A W N -

Topic:- MATH_Q31-45_P1_CTET
1) What should be added to the product 101 x 203 to get 20614 ?

(1)110
(2) 101
(3) 102
(4) 111

TUF 101 %203 F *FIT SIST S0 AT T 20614 I707 31 2

(1) 110
(2) 101

(3) 102

(4) 111

[Question ID = 31][Question Description = CTET_P1_PART_2_MATHS_SET_120_Q31]
1 [Option ID = 121]

2 [Option ID = 122]

3 [Option ID = 123]
4 [Option ID = 124]

A W N -



2) What is the difference between the place value of 7 in 57341 and the place value of 4 in 75431
?

(1) 300
(2) 6660
(3) 6600
(4) 3000

57341 T 7 = ©ATHIT ATH 99T 75431 T 4 F TATHT 919 F FAT A< 8 ?

(1) 300
(2) 6660
(3) 6600
(4) 3000

[Question ID = 32][Question Description = CTET_P1_PART_2_MATHS_SET_120_Q32]
1. 1 [Option ID = 125]
2. 2 [Option ID = 126]
3. 3 [Option ID = 127]
4. 4 [Option ID = 128]

3) What should be subtracted from 105 x 806 to get 83902 ?

(1)829
(2)728
(3)827
(4) 682

TUEE 105% 806 F F T FZTAT ST AT TH0mH 83902 9o 21 ?

(1) 829
(2) 728
(3) 827
(4) 682

[Question ID = 33][Question Description = CTET_P1_PART_2_MATHS_SET_120_Q33]
1. 1 [Option ID = 129]
2. 2 [Option ID = 130]
3. 3 [Option ID = 131]
4. 4 [Option ID =132]

1

.3
4 How many - are there in e ?

(16
(2)8
(3)9
(4)12



%frﬁn—rﬁrq'; 27
(1)6
(2)8
(3)9
(4) 12

[Question ID = 34][Question Description = CTET_P1_PART_2_MATHS_SET_120_Q34]

1
2
3.
4

%) Amongst the fractions

1.

. 1 [Option ID = 133]
. 2 [Option ID = 134]
3 [Option ID = 135]
. 4 [Option ID = 136]

3 4 1 5 3 .

~, =: 5. = and -, the largest and the smallest fractions are
4V 5T 2V 8 2

respectively :

1) 58 3
()2 ang 2

(2) 2

@ |
Y]
S5
o

3)3
(]zand

S IR S )

(4) 2L and

et 5, 2, 5, ¢ A 2 F i a8 o o et fae waen
OFE L
(2) ¢ 4 5
(3) 5 o7 5
(4) 5 9

[Question ID = 35][Question Description = CTET_P1_PART_2_MATHS_SET_120_Q35]
1 [Option ID = 137]

2. 2 [Option ID = 138]
3. 3 [Option ID = 139]
4. 4 [Option ID = 140]

6) Ifthe largest 5-digit number is added to the smallest prime number, then we get :
(1) largest 6-digit odd number
(2) largest 6-digit number
(3) smallest 6-digit odd number
(4) smallest 6-digit number



= g0 g1TT

(1) T9H T2T 6 dF1 AT FHTH T
(2) TaH TET 6 FFHT ATAT HEAT

(3) FEE AT 6 dAFT FTAT =0T HEqT
(4) =T GIET 6 T ATAT HEAT

[Question ID = 36][Question Description = CTET_P1_PART_2_MATHS_SET_120_Q36]
1. 1 [Option ID = 141]
2. 2 [Option ID = 142]
3. 3 [Option ID = 143]
4. 4 [Option ID = 144]

7) Number of seconds in 6 hours is equal to the number of minutes in
(1) 12 days
(2) 14 days
(3) 15 days
(4) 16 days

6 =2l § WRuSt Y "y et § |7 Pheshr a2t it #7247 %6 9= g ?
(12 ==
(2)14 fa=

(3)15 &=
(4) 16 f2=

[Question ID = 37][Question Description = CTET_P1_PART_2_MATHS_SET_120_Q37]

1. 1 [Option ID = 145]

2. 2 [Option ID = 146]

3. 3 [Option ID = 147]

4. 4 [Option ID = 148]

8) While weighing the fruits, a vendor kept Ezlkg of weights on one side of the balance and two

weights of 200 g and 100 g on the side containing the fruits. What is the weight of the fruits ?

1)2200 g
2)2300 g
3)2400 g

(
(
(
(4)2000g



AT T AT FEA A, T AT 7 AT F U TAE F 25 kg F AR T A g
TAE | 200 g TAT 100 g F g TAT T 7 | Tl F7 a5 fHaen g 2

(1)2200 g
(2)2300 g
(3) 2400 g
(4) 2000 g

[Question ID = 38][Question Description = CTET_P1_PART_2_MATHS_SET_120_Q38]
1. 1 [Option ID = 149]
2. 2 [Option ID = 150]
3. 3 [Option ID = 151]
4. 4 [Option ID = 152]
9) Ramesh started his journey at 19;50 and finished at 23:20. The time taken in completing the
journey is :
(1) 3 hours 30 minutes
(2)
(3) 2 hours 30 minutes
(4) 4 hours 80 minutes

4 hours 30 minutes

TH T 19:50 I ATAT TTAT 9[F FT AT 23:20 A FHTC Hl | TTAT T FA F
foraT T FET 2

(1) 3 5 30 e
(2) 4 == 30 T
(3) 2 5= 30 T
(4) 4 =% 80 T

[Question ID = 39][Question Description = CTET_P1_PART_2_MATHS_SET_120_Q39]
1. 1 [Option ID = 153]
2. 2 [Option ID = 154]
3. 3 [Option ID = 155]
4. 4 [Option ID = 156]

10) A tank of 200 litre capacity is filled with water upto %m of its capacity. How many times a
bucket of capacity 3000 mL will take to fill the tank completely ? (Assume bucket is filled upto
its brim each time)

(1)10

(2)20

(3)30

(4)40



200 #ze g ATl U 2 F o AW I T G EA E | A ey
97 % T 5000 mL &TAT ATt UF STeer § 9T 99T gaH Hhadr 1
STEHT TEAT ? (Fea=1 o & aredt o0 9% FI% T6 94 Tl 2)

(1) 10
(2) 20
(3) 30
(4) 40

[Question ID = 40][Question Description = CTET_P1_PART_2_MATHS_SET_120_Q40]
1. 1 [Option ID = 157]
2. 2 [Option ID = 158]
3. 3 [Option ID = 159]
4. 4 [Option ID = 160]

11) Which of the following letters has respectively the minimum and maximum number of lines of
symmetry ?
V. X, M|N, T
(1)N and X
(2)Nand T
(3)M and X
(4)Tand X

FAATTV, X, M, N, T F & T&7H waer: =aa8 @7 Jfdsmaq g9i83q 7@ g ?

(1) N & X
@)N#= T
(3) M &= X
(4) T &z X

[Question ID = 41][Question Description = CTET_P1_PART_2_MATHS_SET_120_Q41]
1. 1 [Option ID = 161]
2. 2 [Option ID = 162]
3. 3 [Option ID = 163]
4. 4 [Option ID = 164]

12) The number of degrees in three and two-third right-angles is :
(1) 300
(2) 330
(3) 360
(4) 390



it eire Zr-Frars et & R £ e 2
(1) 300
(2) 330
(3) 360
(4) 390

[Question ID = 42][Question Description = CTET_P1_PART_2_MATHS_SET_120_Q42]

1. 1 [Option ID = 165]
2. 2 [Option ID = 166]
3. 3 [Option ID = 167]
4. 4 [Option ID = 168]

13) Observe the following pattern and select the next row.
9-1) + 8=1
(98-2) + 8=12
(987-3) + 8=123

(1)(98765 - 4) = 8 = 1234
(2)(9876 - 4) + 8=1234
(3)(9876-5) + 8=12345
(4) (9876 -4) = 8= 12345

AT T30 M e 7 et e ST el gitn 2 |

9-1) + 8=1
(98 -2) + 8 =12
(987 - 3) + 8 =123

(1) (98765 —4) + 8= 1234
(2) (9876 -4) + 8=1234

(3) (9876 — 5) + 8 = 12345
(4) (9876 —4) + 8 = 12345

[Question ID = 43][Question Description = CTET_P1_PART_2_MATHS_SET_120_Q43]

1. 1 [Option ID = 169]
2. 2 [Option ID = 170]
3. 3 [Option ID = 171]
4. 4 [Option ID = 172]



14) Study the following table and select the correct statement :

Game liked by students Number of students
Cricket 80
Volleyball i
Football 35
Badminton 60

(one student likes only one game)

(1) The number of students who like Vaolleyball is less than the number of students who like

Badminton.

(2) The number of students who like Cricket is 25 more than the number of students who like

Football.

(3) The number of students who like Football is 15 less than the number of students who like

Volleyball.

(4) The number of students who like Badminton is two-third the number of students who like

Cricket.

R et 1 s Hifor o Jgr Faw I
P@Tfﬁﬁwqﬁaﬁ-ﬂ%ﬁ [ERURRLEIR: =]
(e

90
EIGIEIE] 73
k=i 55
et 60
(T A=t e vF A 9H6T FAT 2)

(1) AT THT F29 AT (STl A GEAT, dSfded THE FEd A
ety i J=r 7 79 ¢ |

(2) e weiE e AT A=ty i Fear, Teare T63 F79 are fE=ntay fiv
HEAT | 25 ATEF 2 |

(8) FEaToT THS FA AT [A=ATIHAT il HEAT, AT AT TH F0d AT (A=A
FEHAT T 15 FHZ |

(4) 8T udg F2a ara =ty £ g, Thde w6 520 ara @ty i
AT #T 2-TAgmE 2 |

[Question ID = 44][Question Description = CTET_P1_PART_2_MATHS_SET_120_Q44]
1. 1 [Option ID = 173]
2. 2 [Option ID = 174]
3. 3 [Option ID = 175]
4. 4 [Option ID = 176]



15) Number obtained by 30 students in a mathematics test are given below :
20,18,17, 19, 24, 26, 20, 17, 19, 18, 24, 16, 17, 20, 15, 14, 20, 11, 09, 25, 17, 22, 23, 25, 24,

20,19, 18,17, 26
The difference between the number of students who cbtained less than 20 marks to that of

those who obtained 20 or more marks is :
(1
(2)2
(3)3
44

i =1 odreAT § 30 fAEmiEt gy arearE 7 2

20,18, 17,19, 24, 26, 20, 17, 19, 18, 24, 16, 17, 20, 15, 14, 20, 11, 09,
25, 11,22, 23,20, 24, 20, 19, 18, 17, 26

20 T FH AF AT F77 AT [FATTSTT 300 F&qT 97 20 AT AT AT A 9o

=

FOA AT (ARTTAAT 3 HeaT | #9728

(1)1

(2)2

(3)3

(4)4
[Question ID = 45][Question Description = CTET_P1_PART_2_MATHS_SET_120_Q45]
1. 1 [Option ID = 177]
2. 2 [Option ID = 178]

3. 3 [Option ID = 179]
4. 4 [Option ID = 180]

Topic:- MATH_Q46-60_P1_CTET

1) Which of the following is not a part of primary mathematics curriculum ?
(1) Probability
(2) Patterns

(3) Data handling
(4) Estimation

feferfas § & F1-ar arrfes afv ars=ar w1 9 qge ?

(1) wrfEra

(2) wfe=TT

(3) AfFET FT FaeT
(4)31ﬂ'HWFITﬂ?|T

[Question ID = 46][Question Description = CTET_P1_PART_2_MATHS_SET_120_Q46]
1. 1 [Option ID = 181]
2. 2 [Option ID = 182]
3. 3 [Option ID = 183]



4. 4 [Option ID = 184]
2) Which of the following is least effective as an assessment strategy in mathematics at primary
level ?

(1) Observation-based activities

)

(2) Term-end examination
) Formative assessment tasks
)

(3
(4) Use of rubrics
TR TG O A0 % AR qieh 6 = § [etertega § F FiF-97 799 59

THATALTAT B 2

(1) SFATHA T ATATR A T (A ATt

(2) 7= T

(3) THATHT ATHAT F4

(4) =TT &7 ITAET
[Question ID = 47][Question Description = CTET_P1_PART_2_MATHS_SET_120_Q47]
1 [Option ID = 185]
2 [Option ID = 186]

. 3 [Option ID = 187]
. 4 [Option ID = 188]

A W N -

3) According to National Curriculum Framework, 2005, which among the following is not the prime
objective of teaching measurement in primary classes ?

(1) To enhance the estimation skills of children

(2) To make children familiar with standard units of measurement

(3) To make children differentiate between standard and non-standard units of measurement
)

(4) To develop mastery in solving all the problems related to measurement

TTET OT5= AT B0t 2005 F a9aT, Reaferiad § & Fi-a1 St Harst
H AT o T 7 q=T 3297 gl e ?

(1) T==T H ATHATT T 5 IO T AT

(2) 1O Y JTAE THISAT T d=a1 &l TS HT

(3) F==T FT qTIA H qTAT AT AHTAE sH12A1 | AdT HIAT (FGTHT
(4) 7T | HeTerT TdT THETAT T g T2 § Ao grieer ##IAT
[Question ID = 48][Question Description = CTET_P1_PART_2_MATHS_SET_120_Q48]

1 [Option ID = 189]

2 [Option ID = 190]

. 3 [Option ID = 191]
. 4 [Option ID = 192]

A w N =



4) In a primary grade mathematics textbook, the concepts should

(1) proceed from complex to simple
(2) proceed from abstract to concrete
(3) proceed from concrete to abstract

(4) be introduced through faormal algorithms

JTATHF HEAT 67 MO TTSAqE = H AL
(1) sifee 7 e 1 A% TGl AT

(2) LA & A AT AT AT AT,

(3) T F A FT AT qEAT TR

(4) AT Fw-TATE ST TEd T A A0

[Question ID = 49][Question Description = CTET_P1_PART_2_MATHS_SET_120_Q49]
1. 1 [Option ID = 193]
2. 2 [Option ID = 194]
3. 3 [Option ID = 195]
4. 4 [Option ID = 196]

5) Which of the following is not a stage of school education as recommended in National

Education Policy, 2020 ?

(1) Foundational stage
(2
(
(

)
) Primary stage

3) Preparatory stage
4) Middle stage

fAeaforiaa 7 & F9-a7 =t (9w 1 0% = agh e S B e forar i,

2020 § geaTiad g ?

(1) FfTT T
(2) gt =97

(3) wrEfers (Frie=d) =
(@) e ==

[Question ID = 50][Question Description = CTET_P1_PART_2_MATHS_SET_120_Q50]
1 [Option ID = 197]
2 [Option ID = 198]
. 3 [Option ID = 199]
. 4 [Option ID = 200]

A w N =



6) As per National Curriculum Framework, 2005, vision statement, school mathematics takes
place in a situation where
A. Children learn to enjoy mathematics
B. Teachers are expected to engage low performing students in class activities
C. Bright children pose and solve meaningful problems
Choose the correct option :
(1) only A
(2)only B
(3)Aand C
(4)BandC
T ITET=AT =9ET, 2005 F #9ATY, 98 32 w49 & Fenes &1 afve 39
gttt & #iar smar g, s@t
A. == 0T T HE F g o
B. farer=t & fFewy w=elw % orm Brenfiert =1 war st § |
T FT ATHT BT
C. ZITER/HLTHT T=7 AIT0T AHEATAT T T=IA UF Z H2
AE! e 1 =797 fifer

(1) =T A
(2) ¥ B
(3)AsTC
(@)B&TC

[Question ID = 51][Question Description = CTET_P1_PART_2_MATHS_SET_120_Q51]
1. 1 [Option ID = 201]
2. 2 [Option ID = 202]
3. 3 [Option ID = 203]
4. 4 [Option ID = 204]

7) A child writes number names against each number as
1:0ne

:To

: Three

: For

g o WM

: Five

Which of the following is correct for the given context ?
(1) The child is unable to understand symbolic representation of numbers

(2) The child is using homophones incorrectly

(3) The child has made logical errors

(4) The child doesn't understand the concept of numbers as having a numeric value and a
numeral



TF F=AT Teld T AT & AN 9T & 919 20 998 7 foaar g
a9 (One)

2 (To)

- i1 (Three)

. %1 (For)

. 12 (Five)

Feorterm & & #iw-ar fav a s & fro a3 2

(1) T==T AT & TATRTCHF/FATHAH (FET0r T A7 § J997 2

(2) ST==T TR (THEAT 975%) T AR T T4 7 ¥ @ e

(3) == 7 ariehe Afeai v g

(4) T=AT HEATAT FT ATATIOM T T TEATH T T AC T A% (T=A1F) 7 =T
[Question ID = 52][Question Description = CTET_P1_PART_2_MATHS_SET_120_Q52]
1. 1 [Option ID = 205]
2. 2 [Option ID = 206]

3. 3 [Option ID = 207]
4. 4 [Option ID = 208]

g how N =

8) Which of the following is least appropriate about the nature of mathematics ?

(1) Mathematical concepts are hierarchical in nature
(2) Mathematics can be understood as a study of patterns
(3) Mathematics is inclusive in nature as it always includes social subjectivities

(4) Logical reasoning plays an important role in mathematics

feaforfaa & & Fi-a1 700 1 95 F q9g § 7699 F9 T0gH g ?

(1) IO T SAETIOTEAD T ThTq TSTH AT gral
(2) T AT FIA=AL F HLAAT HT Tog AT THAT S THAT 2
(3w AT wET wEELT gEr g oHiE TEH #EF 'S
(4) T fAa=w wioE § 0% ggor gfasr famar g
[Question ID = 53][Question Description = CTET_P1_PART_2_MATHS_SET_120_Q53]
1. 1 [Option ID = 209]
2. 2 [Option ID = 210]

3. 3 [Option ID = 211]
4. 4 [Option ID = 212]



9) While introducing fractions in a primary class, an effective teaching strategy would be to start
with
(1) the definition of a fraction
(2)
3)
)

(
(4) pictorial representation of various fractions

recalling integers
representing various fractions numerically on the blackboard

AT FEAT § Tl T Of=T 39 g0, TF TATAT (A0 ArSAr 72 00 S R
AT BT I

(1) 7= T8 &Y TaT™T

(2) TOTTT & 7T
(3) s T%. TS FH=1 7 9= 109F =7 7 {0 Fi7e

(4) TEfs= o=t =1 ==t 2 AT v

[Question ID = 54][Question Description = CTET_P1_PART_2_MATHS_SET_120_Q54]
1. 1 [Option ID = 213]
2. 2 [Option ID = 214]
3. 3 [Option ID = 215]
4. 4 [Option ID = 216]

10) Ms. Asta, a class 4 mathematics teacher gives an activity to her students to segregate given
geometrical shapes into different groups based on their properties. She is assessing her
students at level of geometrical thinking as per the theory of VVan Hiele.

(1) Visualisation
(2) Analysis

(3) Deduction
(4) Abstraction

Fear 4 ¥ arfvra frfgeey, qoft 0w 7 s FEnfEa 5, o F srare 0w, g
SATHATT SRl 7 A #9qgi § 9ied 51 Garrar &#3r | 3 auq
Fenfd=t #1, a9 g F g & agEw, wnEde &HaT F FAT
el FT gl g |

(1) 3eHeoT
(2) Freeramr
(3) FemH=
(4) FT

[Question ID = 55][Question Description = CTET_P1_PART_2_MATHS_SET_120_Q55]
1 [Option ID = 217]
2 [Option ID = 218]
3 [Option ID = 219]
4 [Option ID = 220]

A W N -



11) Which of the following statements is true for Hindu-Arabic system of numeration ?

It is based on the concept of place value.
All numbers can be represented using a finite set of digits from 0 to 9.

It is a hieroglyphic system.

o0 wr

The order of digits in a number is independent of whether the digits are
written from right to left or left to right.
Choose the correct option :

1)AandC
2)CandD
3)Band D

(
(
(
(4)A and B

Frefrter & & Fiea e T Y frg- et ot 6 A 6w g 2

A. T BITHIT /I FT ATLTI0M T7 AT 2 |

B. HWI H&ATE 0 & 9 =i & TIHT THZ T TART F7T (H=T iy
ST Tl g |

C. ag v f=afaf a¢ aranfya =7aw4m 2 |

D. Tt dT |@aT § i #7179 A99-3919 § T994 g, g d% 70 °
AU 2T 770 7 210 forg /7 |

Tl faeoT 1 == Ao

(AT C

(2)C &= D

(3)B ™D

(4)AFTB

[Question ID = 56][Question Description = CTET_P1_PART_2_MATHS_SET_120_Q56]
1. 1 [Option ID = 221]
2. 2 [Option ID = 222]
3. 3 [Option ID = 223]
4. 4 [Option ID = 224]



12) According to National Curriculum Framework, 2005, which of the following statements is/are
true about mathematics learning among primary grade learners ?
A. Children learn more when the teacher explains the concept and child
reproduces it.
B. Opportunities to be provided to the children to engage them in different
activities, quizzes and discussions.
C. Connecting children's already existing ideas with the concepts to be taught.
Choose the correct option :
(1)BandC
(2)AandC
(3)AandB
(4)only B
TTAT ITEI=AT F99ET, 2005 F ATHTE, TTATHF w7 5 ety o =
FfeT & "3 | MeAforad § 8§ SI9-9175 599 97 /2 ?
A. T=a #TaF drad g o TANAF FFAOT H FHATT § AT T=AT
ST YA acqT=d Hldl %’ |
B. T=at %1 A= frmsordy, werm=iat diw af==ia § anr on
C. Toreror 2 s=emone 1 F=iETi % 0 HerE @ e
el TaehoT 7 =2 Ao
(1)B&™C
(2)AdTC
(3) AT B
(4) %A B
[Question ID = 57][Question Description = CTET_P1_PART_2_MATHS_SET_120_Q57]
1. 1 [Option ID = 225]
2. 2 [Option ID = 226]

3. 3 [Option ID = 227]
4. 4 [Option ID = 228]

13) A child arranges decimal numbers from largest to smallest as :
0-082 >0-62>036>0-8
The error made by the child is due to the misconception based on
(1) equal grouping
(2) most significant digit
(3) regrouping
(

4) proportionality



TF F=AT SUHAT TEITA Tl TaH TS F TIH Glal a6 360 THL m9a35 Fa1 2
0-082 >0-62>0-36 > 0-8
F=4 G FT T i F1 HT0 T AT i g |

(1) FHTT FHS R

(2) TF ATIF dF
(3) T -FETHTI
(4) FRTATA=AT

[Question ID = 58][Question Description = CTET_P1_PART_2_MATHS_SET_120_Q58]

1. 1 [Option ID = 229]

2. 2 [Option ID = 230]

3. 3 [Option ID = 231]

4. 4 [Option ID = 232]

14) Which of the following is the least appropriate example of relational understanding in

mathematics ?
(1
(2
(3
(4

Students can explain the division of numbers with the help of diagrams.
Students understand the relationship between area and volume.

Students know the procedure to calculate the area of a rectangle.

L e s L

Students use manipulatives to explain equivalent fractions.

feaferfea & & Frg-ar 1T § Sd99ens a9 F7 "99 1 T § g
IR & ?

(1) @rat Fit Tgraar T F=mt deardr w1 FarsT a9 796 ¢ |

(2) =T Serder i arIas & & F T A ¢

(3) =TT AT 3 A=Ther il 0T T AT TS S 2 |

(4) F=redT s e T 1 A9 & o7 ZFaat9rer AT & 30 #7943 |

[Question ID = 59][Question Description = CTET_P1_PART_2_MATHS_SET_120_Q59]

1. 1 [Option ID = 233]

2. 2 [Option ID = 234]

3. 3 [Option ID = 235]

4. 4 [Option ID = 236]

15) Ms. Shammi, a mathematics teacher gave the following question to her class : ‘Find the
dimensions of all the rectangles whose area is 36 square units, given that the dimensions of

the rectangles are whole numbers.’ By giving this task, the teacher was trying to

(1) Connect together the concepts of array-type multiplication, area of rectangles and
commutative property of multiplication

(2) Help students to recall multiplication tables

(3) Let her students memorize the formula for area of rectangle

(4) Clarify the concepts related to geometry and arithmetic



aedt oy, wE v A fortger 7 Weataied gew ot war o = o oaiE
T Y AETE-ATETS O €, 37 39 Al At it aEn-Ates 9 A
STt ST 36 397 Ifve g ' 27 14 T 5 FF T8 T #T T5r g

(1) 7=0ft (FI8) - 0, ATAT F AAFRA AT A F FAATHT F TO0EH A
FALTTITAT T TH TTT 2T FT
(2) 7 =g FA=nTH= 1 TgTel T TATH FI § TgrFar F2
(3) & 37 E=mfT o F S FT AT AR FL A
(4) ST U AFA0T 7 HEA T AT FT 5% F T
[Question ID = 60][Question Description = CTET_P1_PART_2_MATHS_SET_120_Q60]
1. 1 [Option ID = 237]
2. 2 [Option ID = 238]

3. 3 [Option ID = 239]
4. 4 [Option ID = 240]

Topic:- EVS_Q61-75_P1_CTET

D The New Delhi-Howrah Rajdhani Express leaves New Delhi at 16:50 hours on 25" November
2022 and reaches Howrah at 12:05 hours on 26" November 2022, If the average speed of the
train is 80 km per hour, what is the distance between New Delhi and Howrah ?

(1) 1529 km
(2) 1532 km
(3) 1540 km
(4) 1552 km

e fReefi-gmEeT TeeT v 25 F9wEY 2022 FT 16:50 =e uw 9% el
FEOF H FAql g &Y 26 F9ET 2022 FT 12:05 T 9 grAST ugAdl g | AR
TERTTET il S| =ver 80 T =T, Wi =eT g, A7 qe fRodtt 3T graer & &= #it T
T ZHIT 2

(1) 1529 .47,

(2) 1532 .47,

(3) 1540 .47,

(4) 1552 .+

[Question ID = 61][Question Description = CTET_P1_PART_3_EVS_SET_120_Q61]
1. 1 [Option ID = 241]
2. 2 [Option ID = 242]
3. 3 [Option ID = 243]
4. 4 [Option ID = 244]



2) Imagine that you are in a park and an earthquake occurs. Which of the safety measures will
you follow ?
(1) Stay in the open, away from buildings
(2)

(3) Get under the nearest tree

(4) Run out of the park to the nearest road

Run into the nearest building

Foqar Ay & @ TF /AT § g ST O @ T g | AT qIEr o
FIA-HT IRIT ATATIT 2
(1} SHT '-E-il' ﬁ?@ﬁ- "iQ‘-.
(2) FFead ZHT | 9N §120
(3) Feas 991 & |14 @ g T2y
(4) T & e T 9d gU MEeas Hed 77 S8
[Question ID = 62][Question Description = CTET_P1_PART_3_EVS_SET_120_Q62]
1. 1 [Option ID = 245]
2. 2 [Option ID = 246]

3. 3 [Option ID = 247]
4. 4 [Option ID = 248]

3) Which of the following art forms involves making paintings with paste of coloured rice mixed
with natural colours like indigo, turmeric and dyes from flowers and barks of trees ?

(1) Madhubani
(2) Warli

(3) Kalamkari
(4) Phoolkari

feaforfaa & & %o & F9-0 =7 |, IS D0 99 qra, gear 9 fJtha 4w
O & AU T TEL A e F HET | F Wi 9§ =Ewar w31 / gt
Farer Afga g 2

(1) TEET

(2) Tt

(3) FATFTN

(4) T

[Question ID = 63][Question Description = CTET_P1_PART_3_EVS_SET_120_Q63]
1. 1 [Option ID = 249]
2. 2 [Option ID = 250]
3. 3 [Option ID = 251]
4. 4 [Option ID = 252]



4) Select a set of food items which are obtained from the same plant part.

1) Apple, sugarcane, ginger, carrot

(
(2) Green peas, jeera, chana, wheat
(3) Spinach, jeera, potato, cabbage
(

4) Apple, tomato, ginger, apricot

TH TS0 TSTAT % TF AH=24 &1 F49 FI90 g 918 % JHE 96 7 979
= AT 2

(1) &4, T=IT, =37, T

(2) & Je, ST, =47, T8

(3) I(llr Ii'-I:ll —j”(‘Ir l -\ll ||

(4) B, THIET, AZTH, AT

[Question ID = 64][Question Description = CTET_P1_PART_3_EVS_SET_120_Q64]
1. 1 [Option ID = 253]
2. 2 [Option ID = 254]

3. 3 [Option ID = 255]
4. 4 [Option ID = 256]

5) Given below is a sequence of events that leads to extreme pollution of river water. Find the
correct sequence.
A. Smell, acidity and colour of the river water is affected.
B. Aguatic life cannot survive in the water,
C. River becomes dead for all practical purposes.

D. Excess of toxic chemicals are released in the river.

1)ABCD
2)BCDA
3)DABC
4DBAC

(
(
(
(
= HEATAr T HH =27 747 g 59H 750 F S § FeA 8w 590 g1 4T § | "’
T O Ao |

A. TET = ST 0 T, SEAAT ST DT TATET 2 2 |

B. S H ST Sfta Siftad qg1 Tg 7o |

C. gt =magiis seedi s At g@ A= 2

D. S | gIA®T® THTaT AHaT § Gre T g |

(1)ABCD

(2)BC DA

(3)DABC

(49)DBAC



[Question ID = 65][Question Description = CTET_P1_PART_3_EVS_SET_120_Q65]
1. 1 [Option ID = 257]
2. 2 [Option ID = 258]
3. 3 [Option ID = 259]
4. 4 [Option ID = 260]

6) Which of the following group of plants are propagated by seeds ?

(1) Sugarcane, Potato, Cabbage
(2) Rice, Wheat, Oats

(3) Potato, Rose, Sugarcane

(4) Wheat, Sugarcane, Rice

(T B e e e B B 7 B B A R B =

(1) ST, AT, AT AT
(2) ==, g, e

(3) ATeg, T, AT
(4) 3Tg, AT, ATAT

[Question ID = 66][Question Description = CTET_P1_PART_3_EVS_SET_120_Q66]
1. 1 [Option ID = 261]
2. 2 [Option ID = 262]
3. 3 [Option ID = 263]
4. 4 [Option ID = 264]

7) Which of the following is the main food of the people of the State to which P.V. Sindhu belongs
?

(1) Idli, Chutney, Rice, Sambar

(2) Roti, Dal, Subzi, Aloo Paratha

(3) Roti, Sambar, Bamboo curry, Fish curry
(4) Fish curry, Tapioca and Rice

feaferfea § |7 FIT-A7 999 39 T059 & 60 F7 {e T 9r9d g Sg F AT
g =g Taar g ?

(1) AT, FeAt, FTF, Tie?

(2) 12T, =TT, FeSIr, AT TEAST
(3) T, \iEe, At T T, g F/FRT F
(4) Fror Fhmeet 740, =fodmT o 3aa

[Question ID = 67][Question Description = CTET_P1_PART_3_EVS_SET_120_Q67]
1. 1 [Option ID = 265]
2. 2 [Option ID = 266]
3. 3 [Option ID = 267]
4. 4 [Option ID = 268]



8) A has 2 sisters B and C. D is husband of A. What is the relationship of the daughters of B and
CwithD?
(1) D is their uncle
(2) D is their aunty
(3) D is their cousin
(4) D is their daughter

AF R TABATCEIAT DAL B i C AT it w7 D F P AET §

?

(1) D 37+ &ishet 2
(2) D Tt &ATET 2
(3) D T FleT &
(4) D Tt FET B

[Question ID = 68][Question Description = CTET_P1_PART_3_EVS_SET_120_Q68]
1. 1 [Option ID = 269]
2. 2 [Option ID = 270]
3. 3 [Option ID = 271]
4. 4 [Option ID = 272]

9) Which of the following is most likely to be dispersed by wind ?

(1) Sunflower
(2) Aak (Madar)
(3) Mango

(4) Xanthium

Treaforfaa & & [Eerer 3 217 % i1 S9rEHr g ?
(1) T

(2) T (H=T7)
(3) o
(4) sifrors

[Question ID = 69][Question Description = CTET_P1_PART_3_EVS_SET_120_Q69]
1 [Option ID = 273]
2 [Option ID = 274]
. 3 [Option ID = 275]
. 4 [Option ID = 276]

A w N =



10) You get wheat grains from the shop and your mother makes rotis out of it. Select the correct
sequence of making rotis from grains.
(1) Take atta in a bowl, knead atta, bake rotis, grind grains to atta

(2) Grind grains to atta, take atta in a bowl, knead atta, make golas of knead atta, rolling of
golas and bake rotis

(3) Knead atta, grind the grains, roll out the roti and bake rotis

(4) Grind grains to atta, make golas out of kneaded atta, bake rotis and roll out rotis.

AT 0T | R o BT ST STThT T FAAT AT TATAT 3 | TG & TS0 a0 3l
TTAT & el FHH FT AT FITo0

(1) T TS | HATET , AT I, AT FHF, T F AT T

(2) T T AT ST, TH T H AET o, AT T4, To A7 F T T4 A7 TieaT
(4) g | AT WE, E A F UL AN, LT HeA, A AT oA

[Question ID = 70][Question Description = CTET_P1_PART_3_EVS_SET_120_Q70]

1. 1 [Option ID = 277]

2. 2 [Option ID = 278]

3. 3 [Option ID = 279]
4. 4 [Option ID = 280]

11) Manures are advisable to be used in agricultural fields than fertilisers because
A. Manures are bio-degradable
B. Manures do not cause strong chemical reactions
C. Manures make the soil porous
D. Manures are required in large quantities

(1)Aand B
(2)A,BandC
(3)BandC
(4)CandD



FACAT 0T ATAT AT H GTE FT STANT F7A 31 TATg <1 FOAT g FA0
A. a1z Fa-faeFofiT g

B. T & T Yo LA AT AT 751 it

C. GEHHIT LA LT A ¢

D. @TE FT TT ATAT H ATT9THAT 2T 2

(1)A#TB

(2)A, BT C

(3)BH#TC

(4)Cc#® D

[Question ID = 71][Question Description = CTET_P1_PART_3_EVS_SET_120_Q71]
1. 1 [Option ID = 281]
2. 2 [Option ID = 282]

3. 3 [Option ID = 283]
4. 4 [Option ID = 284]

12) You want to visit places along the banks of river Ganga. Which set of places will you select ?

(1) Kolkata, Kanpur, Varanasi

(2) Patna, Hyderabad, Varanasi
(3) Bhubaneswar, Puri, Darjeeling
(4) Delhi, Kolkata, Prayagraj

AT AT AL F AT W EE HwOGH FAT TR ¢ | AT G e #
TH==T FT FAT Foal ?

(1) FTTHTGT, FIAGE, ATETOHT
(2) TEAT, RS, AT
(3) ACIAT, T, FTSITeT
(4) Tawett, FrershmaT, TATTT

[Question ID = 72][Question Description = CTET_P1_PART_3_EVS_SET_120_Q72]
1. 1 [Option ID = 285]
2. 2 [Option ID = 286]
3. 3 [Option ID = 287]
4. 4 [Option ID = 288]

13) Which of the following pair is correct ?

(1) Wheat : Tap Root

(2) Coriander : Tap Root
(3) Carrot : Fibrous Root
(4) Bamboo : Tap Root



(K e e B B 1 B Y R B o A

(1) T - g stE
(2) gfem - g W

(3) ITSTT . AFET AE

(4) T . THAT STE
[Question ID = 73][Question Description = CTET_P1_PART_3_EVS_SET_120_Q73]
1 [Option ID = 289]
2 [Option ID = 290]
3 [Option ID = 291]
4 [Option ID = 292]

A wN =

14) Which of the following animals is closest relative of snakes, turtles and chameleon ?
(1) Frog
(2) Lizard
(3) Bat
(4) Fish

FeAfores o | SiF-a1 S|, J9/4A9, FgU 87 fiie o1 Haeaq gt g ?

(1) Hz

(2) fogmett
(3) =T=E
(4) AT

[Question ID = 74][Question Description = CTET_P1_PART_3_EVS_SET_120_Q74]
1 [Option ID = 293]
2 [Option ID = 294]
. 3 [Option ID = 295]
. 4 [Option ID = 296]

A W N -

15) Which of the following is not a feature of penguins ?

(1) They have thick skin and a lot of fat in their bodies

(2) Their bodies are streamlined

(3) They change their colour according to their surroundings
(4) They live huddled together

et F & ST T T T ATHATE 0 07 Jgi e ?
(1) ST == =T HIET  &IT I 9700 § aga A7

(2) 3% a7 ARTE T E

(3) & ST T AT % ATATAL0T 5 FTATT T2 &

(4) & ATT-ATT Tohg BT e, 5w T ST @ g

[Question ID = 75][Question Description = CTET_P1_PART_3_EVS_SET_120_Q75]
1. 1 [Option ID = 297]




2. 2 [Option ID = 298]
3. 3 [Option ID = 299]
4. 4 [Option ID = 300]

Topic:- EVS_Q76-90_P1_CTET

1) “Walls Tell Stories” is a narrative about Golconda Fort. The chapter introduces students to
apart from the details of the monuments.

A. Techniques, designs, uses of water, arrangements of earlier times
B. Food eaten by residents of Golconda Fort
C. Social and political life of forts during war and peace
D. Reading a map to identify places
(1)A,C,D
(2)A, B, D
(3)B,C,D
(4)A, B, C

“FAT A MeieT & & Buw § v geva § | 98 s Gt #i
FHTAT & faeqa Jue & qArar T af=ET AT S |

A. TEATHT, ATHFETAT, I F SUANT, TF T 51 =TT

B. Wraaier et & Ratfoa g agw &g s arar S

C. Tz T4 orifa F It et 1 aranfers ua s iia® siad

D. 7T #T 9g=1T ad ol A= 7 989

(HA,C,D

(2)A,B,D

(3)B,C,D

4)A, B,C
[Question ID = 76][Question Description = CTET_P1_PART_3_EVS_SET_120_Q76]
1 [Option ID = 301]
2 [Option ID = 302]

3 [Option ID = 303]
. 4 [Option ID = 304]

AW N =

2) An EVS lesson "What if it Finishes™ presents the theme “Travel”, but the theme is not limited
to "Transport” but in a wider and more interesting perspective. Which of the following is an
example of this perspective ?

(1) People use different kinds of vehicles to go to different distances
(2) Different kind of fuels are used in different vehicles

(3) Students have to find out rates of fuels like Petrol and Diesel in different cities of our
country and also in different years

(4) Some vehicles run on tracks, some on roads and some fly in air



AT FTUS TS I g S ar 2" 3w amEr aega w9t e, g

ufesresr g | et § & e 20 70T 7 I8 g ?

(1) =T fatse ST 79 e | A9 71T F a8t 1 IA0 F9

(2) At argat & =-fw 91 % 2awi #1 ST el g

(3) =Nt #ir gAW 397 & At a2l § ofiT B 39t § 920 {7 W
ST ZHAT A 27 A FAT

(4) T AT &% TL M4 2, T A1 9° A FAZATH T2 3

[Question ID = 77][Question Description = CTET_P1_PART_3_EVS_SET_120_Q77]

1. 1 [Option ID = 305]

2. 2 [Option ID = 306]

3. 3 [Option ID = 307]
4. 4 [Option ID = 308]

3) According to modified Bloom's Taxonomy, the highest category of Cognitive Process in

(1) Understand
(2) Apply

(3) Create

(4) Analyze

ST AT wATRAT AT % ATHATT, HATATHT T{0T FT S=30H 79 ¢

(1) ===
(2) ST

(3) T=T
(4) Frgeraor

[Question ID = 78][Question Description = CTET_P1_PART_3_EVS_SET_120_Q78]

1. 1 [Option ID = 309]

2. 2 [Option ID = 310]

3. 3 [Option ID = 311]

4. 4[Option ID = 312]

4) An EVS teacher uses a comprehensive set of criteria used to assess students on a specific

task by
(1) Portfolio
(2
3

(
(4) Cumulative record

Anecdotal record

Rubrics

)
)
)
)



Lo e e A 1 o e Tl o e T e A o e 7 O o e 2 e 7 o e
T ST ATer ATASET % =TT A4 T STAET F9a1 8

(1) TTERITET 21T

(2) ST e T

(3) =5 31T

(4) F=AT fote g
[Question ID = 79][Question Description = CTET_P1_PART_3_EVS_SET_120_Q79]
1. 1 [Option ID = 313]
2. 2 [Option ID = 314]

3. 3 [Option ID = 315]
4. 4 [Option ID = 316]

5) Ayesha, an EVS teacher of class 5, asks her students to differentiate different kinds of homes
seen in rural and urban areas based on the types of materials used in the houses. What skills

are being encouraged in this activity ?

(1) Observing, Measuring, Classification and Inferring
(2) Controlling variables, Classification and Inferring

(3) Observing, Predicting, Measuring and Classifying

(4) Observing, Classifying, Inferring and Communicating

ST, W FAT 5 7 T AT o, o, o Gt &, ardfor v o e
F e e F 990 ¥, S8 96T F1 T2 9T F IR GG 97, §97 ot
FOA HT FgAl g |

=H THATHaTT § FIT-H FI0AT T TTeATd a1 ST g1 g ?

(1) FFTEA, ATIA, T F 7000 Hwraen

(2) It &7 ==, FEEwor 7 A e

(3) AT, ATHTT AT, ATAF = =TIA 60

(4) FEe e, A, frerd fAereaT 7 S99 AT

[Question ID = 80][Question Description = CTET_P1_PART_3_EVS_SET_120_Q80]
1. 1 [Option ID = 317]
2. 2 [Option ID = 318]
3. 3 [Option ID = 319]
4. 4 [Option ID = 320]

6) The approach in teaching-learning of EVS that uses both conceptual and process approach is

(1) Collaborative approach

(2) Integrated approach

(3) Activity approach

(4) Lecture-cum-demonstration



T AT TH. F forrr-afamre 7 3 Iunr S #werdt 7 9EHAT SR A w6
SUART AT 2, T8 &

(1) FREATITEHS ST

(2) AT T IUTTH

(3) TR T

(4) =ATETT-AT-T590
[Question ID = 81][Question Description = CTET_P1_PART_3_EVS_SET_120_Q81]
1 [Option ID = 321]
2 [Option ID = 322]

3 [Option ID = 323]
. 4 [Option ID = 324]

A wWw N -

7) Rama plans to teach germination of seeds to her students by showing them real seeds. She
makes her children feel the different seeds by touching them. Then she asks them to identify
the seeds and name them. This way she is using which method of teaching ?

(1) Problem selving

(2) Cooperative learning
(3) Demonstration

(4) Lecture method

w7 #9q FE=nfay & S F d@FTr urs F fOrr it ATSAT g9 2 ) a8
At @it 1 g FT ATT T4 N Sg Hegd Tl g | T AZ A=l W
TEATA TF IAHT AT Tq19 Hl Fgdl g | 7 e & B @ #71 s9amr 77
TIE?

(1) FH=AT FHTITH

(2) AT ATETH

(3) =9

(4) =TT A

[Question ID = 82][Question Description = CTET_P1_PART_3_EVS_SET_120_Q82]

1 [Option ID = 325]

2 [Option ID = 326]

3 [Option ID = 327]
. 4 [Option ID = 328]

AW N =

8) Tina, an EVS teacher, is stating an advantage of using checklists as reporting methoed of
assessment of students. Which is Tina's statement ?
(1) It is easy to use checklists
(2)
(3)
)

(4) Checklists are easy to interpret for promotion to higher class

Checklists require detailed record keeping

Checklists give details of students’ achievement



=47, T T AU, fortde, FEntie F e § FOE w99 5 T a= = w
AN % AT9 9971 Tat g | Wetafaa & 7 &9 F71 F97 a1 g 2

(1) STT= FE=ET T TR0 A 2

(2) st "i==1 & o fAege Reie vy #if a3egd:ar 2

(3) ST F=AT GUAT T ITATSHAT HT =TT ZAT 2

(4) = FATAT | G+ & fory St= qf=at it =q=gT F2497 A9 ¢

[Question ID = 83][Question Description = CTET_P1_PART_3_EVS_SET_120_Q83]

1 [Option ID = 329]

2 [Option ID = 330]

3 [Option ID = 331]
4 [Option ID = 332]

A wWw N =

9) Which of the following is an example of dialogic teaching while teaching the topic ‘Travel’ ?

1) Asking students to collect pictures of ‘Travel

(

(2) Asking students to demonstrate 'Travel among themselves

(3) Teacher showing digital presentation on ‘Travel’ and types of tickets
(

4) Teachers and students listen and respond together regarding their experience of travel

AT FT AT ggTa 797 et § F FE-97 IITgI0 HATSTeHT (2020
?

(1) Bt & g T g+t & v w727 F fm s

(2) TE=ITHT & M99 | AT 97 TR0 F77 & (o110 FgAl

() =T T feeRet F weRTE O farferT g e fsreer segq e Ramr

(4) forfErT Foar FEndi e 7 G99 & T°7 A= Gt A0 Aq9Ti F q9E9 H
PIGIEE C

[Question ID = 84][Question Description = CTET_P1_PART_3_EVS_SET_120_Q84]

1. 1 [Option ID = 333]

2. 2 [Option ID = 334]

3. 3 [Option ID = 335]

4. 4[Option ID = 336]

10) Milli, a 6-year-old, does not part with or share her things like clay dough, books, worksheets,
colours with anyone. Her teacher faces problem with planning any cooperative group activity

including Milli. What will you do as Milli's teacher ?

(1) Counsel Milli to share her things with others

(2) Counsel all other students to adjust to Milli's possessive behaviour
(3) Call her parents to school to discuss about her behaviour
(

4) Organise different strategies of group work to develop Milli’s socialising behaviour



fet, w= 6 Fix arferr, sow =i o & =0 <1, fam, i, 1 zefs,
F5elT & Ty ATEAT AET FEAT S | ST FEATIAHT T (T T 0o F7oh Tohet ot
HEATSrh THITherTT T SIS Filel § THEAT FT AHAT FIA7 9247 2 | [Weft v
HLATIA=T F = H AT FAT Fw (1 ?

(1) T =1 Tz 5 9 @91 950 990 9 qTHAT

(2) #=7 Tt e F FHAT & F el F HATHE EEr F AT G
Fe

(3) 30 SATaATART T =T § AT FT I SR F AL F FIFT FH T

(4) FBefY & =Egr F AT f q@ & forr TS a9g #7 w d=e

[Question ID = 85][Question Description = CTET_P1_PART_3_EVS_SET_120_Q85]
1. 1 [Option ID = 337]
2. 2 [Option ID = 338]
3. 3 [Option ID = 339]
4. 4 [Option ID = 340]

11) Which of the teaching of EVS at primary level follows the social constructivist approach ?
A. Stories, poems and real life narratives are incorporated in textbooks to cater
to diverse classrooms

B. Lessons are given in simple and standard language

2

Local language and terms are used to facilitate understanding of context

D. State-level standardised assessments are held to ensure quality EVS
education to students

(1)AandC

(2)Aand B

(3)Band D

(4)A,BandC



FTatEs TAT 9T SATTH. @ Fi-ar finrr g TSeTE Uy #w5
FTITHA FLAT g ?
A. FEHT, FEATTE TAT AFT AT F ANAT T AT AT F AT
FeAT (orerer fafaer Ferrsd % o g1 @
B. UTBT ®T A% U HIHH 9T H T fm &1
C. #=H Ft 79z 7T @ F o vy qrT uH sssraet w94 e
3 s
D. £t Pem i e T BT Fa s Rfm o == %

HIAh e AThea 2l

(1)AFITC
(2) ATITB
(3)BA4TD
(4) A, BTITC
[Question ID = 86][Question Description = CTET_P1_PART_3_EVS_SET_120_Q86]
1. 1 [Option ID = 341]
2. 2 [Option ID = 342]

3. 3 [Option ID = 343]
4. 4 [Option ID = 344]

12) Which of the following is notan appropriate approach to teach EVS ?
A. Role play
Survey

B

C. Field trips
D. Instruction through teacher
E

Dialogic Teaching



Feaforfea 5 & F9-ar 2.4 0w, F foer 5 forg soge 3o agie 2
qffr e

e

SER )

=ITEATAT o1 fererm/Aser

TATETeHS (9T

oo wm»

E.

(1)D
(2 E
(3)C
(4)B
[Question ID = 87][Question Description = CTET_P1_PART_3_EVS_SET_120_Q87]
1. 1 [Option ID = 345]
2. 2 [Option ID = 346]

3. 3 [Option ID = 347]
4. 4 [Option ID = 348]

13) Sheena is visually impaired and takes a lot of interest in EVS classes. You are taking a field
trip to hilly areas and Sheena is interested to go on the trip. What will you do ?

(
(
(
(

A. Talk to her parents to dissuade her because hilly areas can be risky for her

B. Counsel her parents to allow her to go

C. Give responsibility to her best friend to take care of her safety in the trip

D. Make groups of 4-6 students and give defined responsibilities of the trip to
each group

1)C and D

2)AandC

3)B

4HA



oftaT gfe-arfaa § @um < A1 0w, it Favel | agg == @i ¢ | @17 Tgret aAl |

et &7 der-ger & o o o7 7t 2 997 ofi9T = 9= 97 ST Jngat g |

T AT FHAT 2

A. TEF ATTTTIRT T Fig 3 T TAT F2 F( (6 TgIEl & § 9% (1]

B. IH% ATHITARI FT O & & A 30 ST AT Aqaia =2

C. It Tae @=gt e = fSeaar 719 % 78 avn F o gt
TEAT T 419 ¥

D. 4-6 =it & wqg 910 997 Jeus aHg & I F garaq
Ratfa Seaahat |

(1)CaaTD
(2) ATAT C
(3)B
(4) A
[Question ID = 88][Question Description = CTET_P1_PART_3_EVS_SET_120_Q88]
1. 1 [Option ID = 349]
2. 2 [Option ID = 350]

3. 3 [Option ID = 351]
4. 4 [Option ID = 352]

14) Which of the following is the indicator for assessment in EVS related to affective domain ?

(1) Observation

(2) Discussion

(3) Sharing and working together
(4) Experiment

B = e 7 e s B o e e B B 1 B 0 e 1 s s e -

(1) AT

(2) =T FAT

(3) 7T faer=e e oAt HiEeT
(4) ST

[Question ID = 89][Question Description = CTET_P1_PART_3_EVS_SET_120_Q89]
1. 1 [Option ID = 353]
2. 2 [Option ID = 354]
3. 3 [Option ID = 355]
4. 4 [Option ID = 356]



15) Which skill is not the child improving when he/she asks too many probing guestions in EVS
class ?

(1) Listening skill

)
(2) Demonstration skill
3) Discussion skill
)

(
(4) Critical thinking skill

CATTH. T FAT H W Tl T=4T Fe AANT YT TIAT &, T 98 AT Hia-H
FIT Tl qgaT Al #% RIEI & ?

(1) A =T FqT

(2) =TT FT9TA

(3) FA=AT FreTeT

(4) FHTATAATHS T=a= Hrorea

[Question ID = 90][Question Description = CTET_P1_PART_3_EVS_SET_120_Q90]
1. 1 [Option ID = 357]
2. 2 [Option ID = 358]
3. 3 [Option ID = 359]
4. 4 [Option ID = 360]

Topic:- HIN_Q91-99_L1_P1_CTET

") fRder ; AEfofaad TETT T 9EET Q5 AT TAT # Ag/aan 99g 99T AT
fame &7 AT |
“HITged FT ATETT SIAT g | T AT 9% Aiiged il Ja1C GE1 gl g | 39t
HETHAT, AT AT 7% a7 & | AT TEaTE [Hel % o= 347 727 2 | sfad
TEeTeET it g2 g | i g9 2, T g 7 "Iiard | ati{d g | shad
TTHTHT T AT HIAT T TATA=E ¢ AT Agl, gH AT Al A1 ATlged A5
ATH SATEISE g | 38 o0 F g, T5ma 98 2a0-89T 780 ST 5647 | 990
SHAMTAT AFvE i G5 § @97 72497 2 | et &1 748 7=, 757 | Herar g, v
1 q-0x ufvar 7, Bt #1 sa-=te wa@w 1, G # e |, o e
A= T AR 7 TAT g | TR AT Tra 3% 707 g | A9 § TG A=
qra7 S e 7 FAerar g, T A= T 90T, qAGH AR ST HOAT AThged A
TR
TEIT AT o ATATE AT ST = § Mgl He6e g Faiih

(1) STTa T q&T AT THAAT 2 S AT ZAq1 2 |
(2) iR St i 312 2 |

(3) ATIE T AT e 2 |

(4) WTfEeT ST T 38T AT L |



[Question ID = 121][Question Description = CTET_P1_PART_4_L1_SET_120_HINDI_Q91]
1. 1 [Option ID = 481]
2. 2 [Option ID = 482]
3. 3 [Option ID = 483]
4. 4 [Option ID = 484]

2 fRder : fMwfafas Teme #1 BT {9 T0 J497 & agi/a99 39w 97 70
fa=o T AT |
“HTEeT &7 ATATE SiaT g | THI AT 9T ATiged il <191C Fet gial g | 39t
FETRAT, HATE A7 (a2 a9 g | ot giars g & = == 727 8 | Siras
TEHTEAT HY A § | T G g, T ¢ AT qAErAr F THT g ) Siaw
AT FATag ¢ | 20 o #1 3, ™9 a8 2av-39e 980 o1 9947 | 30T
SaaTAa arvs it Jrer § 997 1247 g | et ag w3, 750 |/ e g, &
Fr W-0% aftaw #, el 1 3T wm §, el 1 et &, S artger
A= T AR H AT g | FHHT AW a7 AT 77 g | ATFAT § TFT A=
e ST Ao & Tyerar 2, SHT A= A7 90T, q5t AAeE IO FIAT ATfed FT
EELR
T T =TT § Sfrae 9 @9 Tgar g ?

(1) TTHTAT HY
PEEEE

(3) AR T
(4) 7 F=T AT

[Question ID = 122][Question Description = CTET_P1_PART_4_L1_SET_120_HINDI_Q92]
1. 1 [Option ID = 485]
2. 2 [Option ID = 486]
3. 3 [Option ID = 487]
4. 4 [Option ID = 488]



3 fAder ; Aafofaa e F7 FHT {5 T T4 # agi/aa s J9gT 9] A
fame &7 AT |
“HITEed FT ATETT S1AT g | THT AT 9T ATiged il Fa1C GE1 gl g | 39t
AT, AT 37 o= F7d & | A0 TEaTE 5l F §1= 747 727 2 | sfad
TEeTeET it g2 g | i g9y g, T g T "IiErd | ati{d g | sad
ATH SATESg ¢ | 39 o0 Fqa g, T5\a 98 2a0-89T 780 ST 647 | §q0
SAATA T Av= HT IS § 97 7gar g | el & 9g 7, 754 ° e g, G
TN GY-g7 utvae 7, Fft 71 da-=te waq §, T &7 0ad ¥, afE A a1
A= T AR 7 TAT g | TR AT Frae 3% 77 g | A9 § 757 A=
qra7 AT 7e7 7 Foar g, I evs #7900, 80 AeE Sore HaAT Aliged
EEiok-ie

ATt 1 T3 3297 @
(1) T 3o FeAT

(2) I IoT= FHTAT
(3) ST FeT= FLAm
(4) AFTTE T FEAT

[Question ID = 123][Question Description = CTET_P1_PART_4_L1_SET_120_HINDI_Q93]
1. 1 [Option ID = 489]
2. 2 [Option ID = 490]
3. 3 [Option ID = 491]
4. 4 [Option ID = 492]



4 fader ; fAwfefad Tere 71 9BFT [5 T0 T4 # Ggi/Aad g9g gu] art
fame &7 AT |
“HITEed FT ATETT S1AT g | THT AT 9T ATiged il Fa1C GE1 gl g | 39t
AT, AT 37 o= F7d & | A0 TEaTE 5l F §1= 747 727 2 | sfad
TEeTeET it g2 g | i g9y g, T g T "IiErd | ati{d g | sad
ATH SATESg ¢ | 39 o0 Fqa g, T5\a 98 2a0-89T 780 ST 647 | §q0
SAATA T Av= HT IS § 97 7gar g | el & 9g 7, 754 ° e g, G
TN GY-g7 utvae 7, Fft 71 da-=te waq §, T &7 0ad ¥, afE A a1
A= T AR 7 TAT g | TR AT Frae 3% 77 g | A9 § 757 A=
qra7 AT 7e7 7 Foar g, I evs #7900, 80 AeE Sore HaAT Aliged
EEiok-ie

ATEAE | AgT A= Hedr g

(1) ATfEeT 7 g &

(2) - AT A

(B) =TT HAT

(4) AE-HTE TETH
[Question ID = 124][Question Description = CTET_P1_PART_4_L1_SET_120_HINDI_Q94]
1. 1 [Option ID = 493]
2. 2 [Option ID = 494]

3. 3 [Option ID = 495]
4. 4 [Option ID = 496]



5) fader : AafofaT Ters #1 92 75 T7 T4 F ag/aad gg 997 I
fame &7 AT |
“HITEed FT ATETT S1AT g | THT AT 9T ATiged il Fa1C GE1 gl g | 39t
HETHAT, AT AT a5 F9d 2 | At qiams e & = 347 987 § | §faq
TEeTeET it g2 g | i g9y g, T g T "IiErd | ati{d g | sad
ATH SATESg ¢ | 39 o0 Fqa g, T5\a 98 2a0-89T 780 ST 647 | §q0
SAATA T Av= HT IS § 97 7gar g | el & 9g 7, 754 ° e g, G
1 9-07 A 7, Bl #1 da-=te w3 1, G # va |, o e
A= T AR 7 TAT g | TR AT Frae 3% 77 g | A9 § 757 A=
qra7 AT 7e7 7 Foar g, I evs #7900, 80 AeE Sore HaAT Aliged
EEiok-ie
ATiged & #ATe= T A7 2

(1) =T &< 7T T T0A7
(2) St
(3) T qTAT

(4) TEHTHT

[Question ID = 125][Question Description = CTET_P1_PART_4_L1_SET_120_HINDI_Q95]
1. 1 [Option ID = 497]
2. 2 [Option ID = 498]
3. 3 [Option ID = 499]
4. 4 [Option ID = 500]



o) fader : AafofaT Tere #1 T2F TF T7 T4 F ag/aad g 997 I
fame &7 AT |
“HITEed FT ATETT S1AT g | THT AT 9T ATiged il Fa1C GE1 gl g | 39t
HETHAT, AT AT a5 F9d 2 | At qiams e & = 347 987 § | §faq
TEeTeET it g2 g | i g9y g, T g T "IiErd | ati{d g | sad
ATH SATESg ¢ | 39 o0 Fqa g, T5\a 98 2a0-89T 780 ST 647 | §q0
SAATA T Av= HT IS § 97 7gar g | el & 9g 7, 754 ° e g, G
1 9-07 A 7, Bl #1 da-=te w3 1, G # va |, o e
A= T AR 7 TAT g | TR AT Frae 3% 77 g | A9 § 757 A=
qra7 AT 7e7 7 Foar g, I evs #7900, 80 AeE Sore HaAT Aliged
EEiok-ie
R AT FT el

(1) HfEa
(2) =g

(3) e
(4) T o

[Question ID = 126][Question Description = CTET_P1_PART_4_L1_SET_120_HINDI_Q96]
1. 1 [Option ID = 501]
2. 2 [Option ID = 502]
3. 3 [Option ID = 503]
4. 4 [Option ID = 504]




" e : FEfofaT TErT #1 TR g5 7 T4 F ag/aad g 997 I
fame &7 AT |
“HITEed FT ATETT S1AT g | THT AT 9T ATiged il Fa1C GE1 gl g | 39t
HETHAT, AT AT a5 F9d 2 | At qiams e & = 347 987 § | §faq
TEeTeET it g2 g | i g9y g, T g T "IiErd | ati{d g | sad
ATH SATESg ¢ | 39 o0 Fqa g, T5\a 98 2a0-89T 780 ST 647 | §q0
SAATA T Av= HT IS § 97 7gar g | el & 9g 7, 754 ° e g, G
1 9-07 A 7, Bl #1 da-=te w3 1, G # va |, o e
A= T AR 7 TAT g | TR AT Frae 3% 77 g | A9 § 757 A=
qra7 AT 7e7 7 Foar g, I evs #7900, 80 AeE Sore HaAT Aliged
EEiok-ie
AT~ T FHEET 952 R

(1) e
(2) geft
(3) AT

(4) TEHTHT

[Question ID = 127][Question Description = CTET_P1_PART_4_L1_SET_120_HINDI_Q97]
1. 1 [Option ID = 505]
2. 2 [Option ID = 506]
3. 3 [Option ID = 507]
4. 4 [Option ID = 508]




8 fRder : RafofaT Temer #7 9277 75 77 T4 ¥ ag/aas ugT 397 I
fame &7 AT |
“HITEed FT ATETT S1AT g | THT AT 9T ATiged il Fa1C GE1 gl g | 39t
HETHAT, AT AT a5 F9d 2 | At qiams e & = 347 987 § | §faq
TEeTeET it g2 g | i g9y g, T g T "IiErd | ati{d g | sad
ATH SATESg ¢ | 39 o0 Fqa g, T5\a 98 2a0-89T 780 ST 647 | §q0
SAATA T Av= HT IS § 97 7gar g | el & 9g 7, 754 ° e g, G
1 9-07 A 7, Bl #1 da-=te w3 1, G # va |, o e
A= T AR 7 TAT g | TR AT Frae 3% 77 g | A9 § 757 A=
qra7 AT 7e7 7 Foar g, I evs #7900, 80 AeE Sore HaAT Aliged
EEiok-ie
T T HATH 9757 BT
(1) fRare
(2) T

(3) FaT
(4) =

[Question ID = 128][Question Description = CTET_P1_PART_4_L1_SET_120_HINDI_Q98]
1. 1 [Option ID = 509]
2. 2 [Option ID = 510]
3. 3 [Option ID = 511]
4. 4 [Option ID = 512]




O fAder ; [RwfafaT e #1 9% 76 T g7 & agi/aad g9 Iu7 I
faseT 1 AT |
“HTTEed &1 ATETT AT g | THT AT 9 Jiiged il Za1C g8l gl g | 39t
AT, AT AT A% F9d 2 | At qiars el & = 347 9857 § | §faq
TeeTeET it g2 g | i g9y g, I g ST "IiErd | afi{d g | sad
A SATESg 2 | 36 {0 e 2, TS a8 2a3-8397 720 §1 J%47 | 597
SAATA T A= HT IS § @907 7gar g | el &0 9g 7, 754 | e g, G
1 9-07 utvar 7, Bl #1 da-=te wamw §, G # e |, o arlea
NS T AR 7 TAT g | TR AT Tra &Y 77 g | A9 § 757 A=
qe=7 A 7o 7 e 2, T aees v 390t 781 A 3709 AT Alfged
EEio i
=TS FAT § AT § we-H TS TR T I H T 2

(1) FraT-fEeramr
(2) T

(3)

(4) Trgroor

[Question ID = 129][Question Description = CTET_P1_PART_4_L1_SET_120_HINDI_Q99]
1. 1 [Option ID = 513]
2. 2 [Option ID = 514]
3. 3 [Option ID = 515]
4. 4 [Option ID = 516]

Topic:- HIN_Q100-105_L1_P1_CTET



") fader - [Rwfafad g=rer #7 95%C g 70 TIT F agiAas gy g9} It
Ao #r AT |
Bl A7, TAT a7 S{taq § grav g,
ST FT HeraT g, 78 74 BHar g |
e F T T A
ST AdT
= &
AT AT gr a2 AT [ g |
AT AT qA, 7 qT
ar i §RT AT HRT g,
THEH ST TS T AT gl ST g,
A AT AT @lE & A9 gl AR 9%
dET FeATaT € |
e | 9T HEATU glel gl Tadl g |
(To=F T T O Arfor)
(1) A &T =57 Fi
(2) A0 &I ST A
(3) Fg THere i fege =rer &
(4) T T AT LA T
[Question ID = 130][Question Description = CTET_P1_PART_4_L1_SET_120_HINDI_Q100]
1. 1 [Option ID = 517]
2. 2 [Option ID = 518]

3. 3 [Option ID = 519]
4. 4 [Option ID = 520]




2 fRder ; [Awfafas g=rmer 7 9% {5 T0 497 % agi/mad g9qw 0% 7
fameT Fr JAT |
ZIeT AT, THT A7 (a9 ¥ gaAv g,
ST FT e g, 78 7 AT g |
e F I T A
ST el
=
AT AT g1 az AT [ g |
AT AT qA, 7 qT
ar fr afRz arafRzdr e,
IHH ST TS 9T AT gl ST g,
g A1 AT @ e & A9 gl 76 9%
HET FATATE |
TS et A= ST AT AT AT B

(1) AT AT ZIT-SET THAT
(2) Stra Fit g7 afxeafd & AT a= Ta@aqr

(3) ST STATHT THT FHTAT
(4) AT FAT

[Question ID = 131][Question Description = CTET_P1_PART_4_L1_SET_120_HINDI_Q101]
1. 1 [Option ID = 521]
2. 2 [Option ID = 522]
3. 3 [Option ID = 523]
4. 4 [Option ID = 524]



3 fRder ; Fufafes werier #1 929 05 T7 T4 F Gg/Fa9 S I97 a0
Ao #r AT |
Grer AT, TAT 97 S{taq § AT 8,
ST FT Herar g, ag w4t fRmarg |
e F T T A
ST AdT
1= ST
AT AT gr a2 AT [ g |
AT AT qA, 7 qT
ar dr R ardET g g,
THH ST TS T FHAT 75T FA™T g,
A AT AT @lE & A9 gl AR 9%
FETT FATaT E |

I ATEA FT HIT 8 JET 6T FgT TA7 8 2

(1) &% ST JTeT T 3
(2) =% ST ATAT AT F T
(3) T &= FEraTagot sfraw it
(4) TR=TOIT ST ZATMT &I

[Question ID = 132][Question Description = CTET_P1_PART_4_L1_SET_120_HINDI_Q102]
1. 1 [Option ID = 525]
2. 2 [Option ID = 526]
3. 3 [Option ID = 527]
4. 4 [Option ID = 528]




Y fRder : AEfofaT qerrer 1 9297 75 707 T491 % Tg/a98 g9qw 97 T
Ao #r AT |
Grer AT, TAT 97 S{taq § AT 8,
ST FT Herar g, ag w4t fRmarg |
e F T T A
ST AdT
1= ST
AT AT gr a2 AT [ g |
AT AT qA, 7 qT
ar dr R ardET g g,
THEH ST TS T AT gl ST g,
A AT AT @lE & A9 gl AR 9%
FETT FATaT E |

“HET AT g — T AT

(1) TATom 9T Sfree

(2) FH TTMAT FTAT T
(3) @At SA&=T g1 ST
(4) Ster< w1 FE ger

[Question ID = 133][Question Description = CTET_P1_PART_4_L1_SET_120_HINDI_Q103]
1. 1 [Option ID = 529]
2. 2 [Option ID = 530]
3. 3 [Option ID = 531]
4. 4 [Option ID = 532]




5) fReer : FufafaT werier #7 929 75 I7 T4 F Gg/Aad S 9] AT
Ao #r AT |
Grer AT, TAT 97 S{taq § AT 8,
ST FT Herar g, ag w4t fRmarg |
HeAT = T T H
ST AdT
1= ST
AT AT gr a2 AT [ g |
AT FATT HqA, 7 A
ar dr R ardET g g,
TEH ST TS LITH ST T80 Sl g,
A AT AT @lE & A9 gl AR 9%
FETT FATaT E |

HATT 953 § HA 9757 (T Te4T 00
(1) ¥ + T
(2) 9% + 29
(3) Hwr + f
(4) HSTET + =4

[Question ID = 134][Question Description = CTET_P1_PART_4_L1_SET_120_HINDI_Q104]
1. 1 [Option ID = 533]
2. 2 [Option ID = 534]
3. 3 [Option ID = 535]
4. 4 [Option ID = 536]




6) fRder : FufafaT werier #7 989 [ T7 T4 & AGZ/Fa9 S 97 a0
Ao #r AT |
Grer AT, TAT 97 S{taq § AT 8,
ST FT Herar g, ag w4t fRmarg |
e F T T A
ST AdT
1= ST
AT AT gr a2 AT [ g |
AT AT qA, 7 qT
ar dr R ardET g g,
THEH ST TS T AT gl ST g,
A AT AT @lE & A9 gl AR 9%
FETT FATaT E |

“wieart 3 T werer Yt avF § qeEran g

(1) @rerm=T=r
(2) FAeTermaTET

(3) gerTHT
(4) AATEATATET

[Question ID = 135][Question Description = CTET_P1_PART_4_L1_SET_120_HINDI_Q105]
1. 1 [Option ID = 537]
2. 2 [Option ID = 538]
3. 3 [Option ID = 539]
4. 4 [Option ID = 540]

Topic:- HIN_Q106-120_L1_P1_CTET

") T H TEIA 00T ZO (=TT U R AT O T T g | AT T
21 ¥ AT AT 36 AT T 7 AR Fo9T ?
. GOTH AR
1. e § AgomEr
I FEfes @t 5

V. e et

()1 1L, 10
@)1, 1, IV
3)1, 111, IV
@11, 1V



[Question ID = 136][Question Description = CTET_P1_PART_4_L1_SET_120_HINDI_Q106]
1. 1 [Option ID = 541]
2. 2 [Option ID = 542]
3. 3 [Option ID = 543]
4. 4 [Option ID = 544]

2) feforfera § & Sra-ofT greeaten foremr i wfmmt £ 2

(1) AT, T F2AT, TTL FIAT A7 AT
(2) 19 @91, F=T FAT, A2 FAT AT Ariefiso

(3) FHETAT HLAT, TEATHLOT, T HLAT AT FATLTTHTT

(4) =T FHTAT, ATH=TTF FTAT, AT HLAT A1 AT FHT
[Question ID = 137][Question Description = CTET_P1_PART_4_L1_SET_120_HINDI_Q107]
1. 1 [Option ID = 545]
2. 2 [Option ID = 546]

3. 3 [Option ID = 547]
4. 4 [Option ID = 548]

3) AEUUTEE TAET % qEAdr 990 ¥ AT, FHentiEn &7 wer ff
JAYTFAT Bl, A% 3 T@l g dre die-die [E=eigy 92 397=ide 19 &l g |

TET ALATIHHT FIT T 720 g ?
(1) Brenfiat 51 Rew w3 T 8
) fFEefiniwrass T Er e
(3) F=rfae i e 2 T 8
(4) FE=rie wr REar T 2
[Question ID = 138][Question Description = CTET_P1_PART_4_L1_SET_120_HINDI_Q108]
1. 1 [Option ID = 549]
2. 2 [Option ID = 550]

3. 3 [Option ID = 551]
4. 4 [Option ID = 552]

4 qrar FT FAT H, EEmdT seaiuw f gt § usgHT F 9 deq - w7
HASTT AT H TH-FA Y T THRE-ATIA S W19 7 2 | Feq: R & S, s o 3w
gl W AF9TF g, AL (Henfiat #7 aaeas gaa AeE F v F IR |
T2t Aae forae-aferm gt afters % G P sraReEa s =g ?

(1) =agars
(2) HATHATHT Hahel
(3) = FrTea=

(4) ATHTSTH-HTT

[Question ID = 139][Question Description = CTET_P1_PART_4_L1_SET_120_HINDI_Q109]
1. 1 [Option ID = 553]
2. 2 [Option ID = 554]
3. 3 [Option ID = 555]
4. 4 [Option ID = 556]

1P




. oo ud forfad avnEit F SeEATeaE ST ST oAl # 9eae
AT |

. =7 &r Tfas a9t &1 Bt F agwr 3g amites i
HAiegtas g9l F SreAT |

. =T & 29 T T KIGFHoqqT AT ST GH=1 Gy 5 959 F
Frerert & A 97 FieEd 8v |

fFafafed 7 & FE-a1 797 gy 10 gt 7% g g ?

(1) TTHIT - HEer

(2) ITHTAH FIRTH

(3) T T

(4) FT -t qrar fare

[Question ID = 140][Question Description = CTET_P1_PART_4_L1_SET_120_HINDI_Q110]
1. 1 [Option ID = 557]
2. 2 [Option ID = 558]
3. 3 [Option ID = 559]
4. 4 [Option ID = 560]

6) TEATT 9T & AT H 7 onieeT g 2

(1) 7re=r o | =Ty Rufaat & afa gt 3=

(2) BEfsr= w=re &t o=y 7 T it &1 ST FEAr

(3) FFTEAT = T o qTaT F FiatHar 347

(4) TEfere Teafat | o ATl =7 T 07 HTAT
[Question ID = 141][Question Description = CTET_P1_PART_4_L1_SET_120_HINDI_Q111]
1. 1 [Option ID = 561]
2. 2 [Option ID = 562]

3. 3 [Option ID = 563]
4. 4 [Option ID = 564]

7) T # w7 F st 7 Gkt wr feer g & 78 9w sEroonst o
FheAl T A9 w27 F 7 Fgr | TET AT B T e a9 = B g ?
(1) s Amel =aq
(2) A= FEmet S
(3) qixa FEmeT =aT
(4) srorrrtorg et Sam
[Question ID = 142][Question Description = CTET_P1_PART_4_L1_SET_120_HINDI_Q112]
B

3. 3 [Option ID = 567]
4. 4 [Option ID = 568]



8 frafafaa § & FA-A7 IANH arar Afems | 9rar i agersEry el ab

AT T GIHFT 9T F 341 g ?

(1) HT=ATH= ST

(2) BT U

(3) 9TFHAF TATTH

(4) ers==nrefiT Iy
[Question ID = 143][Question Description = CTET_P1_PART_4_L1_SET_120_HINDI_Q113]
1. 1 [Option ID = 569]
2. 2 [Option ID = 570]

3. 3 [Option ID = 571]
4. 4 [Option ID = 572]

o) fRafafes § & FEFT S TEH1 F1 |
(1) TFT F IO 1T F FF & AN FoT SATAaE aeiamT ¢ |
(2) @t = T AT 2
(3) ST ATia TAYurET F SATaTas FHe & gee 7E8ar ¢ |
(4) ST ATIT F HIAET F =G T 9L AT 9T |
[Question ID = 144][Question Description = CTET_P1_PART_4_L1_SET_120_HINDI_Q114]
1. 1 [Option ID = 573]
2. 2 [Option ID = 574]

3. 3 [Option ID = 575]
4. 4 [Option ID = 576]

10) ‘sxfaaTEr S s Migia % arame o7 fRrrorersi aawann w Ewte
FTA T TATH E ?

(1) TS T3
(2) =T ForT

(3) =TS
(4) A

[Question ID = 145][Question Description = CTET_P1_PART_4_L1_SET_120_HINDI_Q115]
1. 1 [Option ID = 577]
2. 2 [Option ID = 578]
3. 3 [Option ID = 579]
4. 4 [Option ID = 580]



") gfdFaT (A) :
A AfaTT S =rEemEt & T et £ St e g F e §
=7 H FH FATg |
FIIT(R) :
TATH 99, §EEATE 9T 20 A7 FEt 7 79, T i a7 vhdaew F awe
AT A o 2 |
fraferfT F & & o o9 #1949 S
(1) (A) #1T (R) STHT #21 € 9017 (R), (A) FT 71 = g |
(2) (A) 9 (R) FT1 712t 2, Wi (R), (A) #7820 2T 721 2 |
(3) (A) T2t g, @ (R) Taa 2 |
(4) (A) TTTa &, @l (R) #&1 2 |
[Question ID = 146][Question Description = CTET_P1_PART_4_L1_SET_120_HINDI_Q116]
1. 1 [Option ID = 581]
2. 2 [Option ID = 582]

3. 3 [Option ID = 583]
4. 4 [Option ID = 584]

2 (A) A T AT TEEH FAA AT AIAH THAT ST Fo9eg (F10 5
UTR) F THIAT g, FA & BT H AT SATAT 8 |
(B) AW STETH A HEH Tge(| T A (a19 2 ST i1 i g
|
fraferfa Fe § 7 981 S92 F1 347 i

(1) (A) 581 g, @iae (B) e g |
(2) (B) HET &, W1 (A) 1777 £ |
(3) (A) 9T (B) =TT 72T £ |
(4) (A) 3% (B) T1 T4 2 |

[Question ID = 147][Question Description = CTET_P1_PART_4_L1_SET_120_HINDI_Q117]
1. 1 [Option ID = 585]
2. 2 [Option ID = 586]
3. 3 [Option ID = 587]
4. 4 [Option ID = 588]

=~ =

13) T AEATTH I % AT AT &7 21 & 97 qgf armr A0 ?
(1) Efsrs swrovet i =pt
(2) =T T T HHIT HHT =TT
(3) T FALIT T=HweIe 0 ATeATigd HLar
(4) Taforg == £ d=pfa Fraa Fr

[Question ID = 148][Question Description = CTET_P1_PART_4_L1_SET_120_HINDI_Q118]

1. 1 [Option ID = 589]
2. 2 [Option ID = 590]



3. 3 [Option ID = 591]
4. 4 [Option ID = 592]

14) qTOT | 9Te=1 il AT BT ST% 9T5=1 il T=HAT T 9HT e ATor Ha9r 7
e P = § W1 S g ?
(1) == =T 19
(2) FTET FA=ITH
(3) THTH (AT i)
[Question ID = 149][Question Description = CTET_P1_PART_4_L1_SET_120_HINDI_Q119]
1. 1 [Option ID = 593]
2. 2 [Option ID = 594]

3. 3 [Option ID = 595]
4. 4 [Option ID = 596]
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[Question ID = 150][Question Description = CTET_P1_PART_4_L1_SET_120_HINDI_Q120]
1. 1 [Option ID = 597]
2. 2 [Option ID = 598]

3. 3 [Option ID = 599]
4. 4 [Option ID = 600]

Topic:- ENG_Q121-128_L2_P1_CTET



1) Directions : Read the passage given below and answer the questions by choosing the best /

most appropriate options :

1. We all cried when we were babies. But now that we're adults, many of us often try to hold
back our tears in the belief that crying — particularly at work or in public — is seen as a sign of
weakness or as something to be ashamed of. But is it? Or is the act of shedding tears actually
healthy?

2. Having a good cry can sometimes be just what the doctor ordered. In fact, some
psychologists even suggest that we may be doing ourselves a disservice by not tearing up
regularly.

3. "Crying activates the body in a healthy way," says Stephen Sideroff a clinical psychologist at
UCLA, “Letting down one's guard and one’s defences is a very positive healthy thing. The
same thing happens when you watch a movie and it touches you and you cry.”

4. The Japanese are such strong believers in the health benefits of crying that they've taken
that wisdom to the next level. Some cities in Japan have “crying clubs” where people come
together to indulge in good sobfests. (To help the tears flow participants watch tearjerkers).
The premise ? Crying releases stress and therefore is a great practice when it comes to
staying mentally healthy.

5. Research is backing up that theory. Studies of the various kinds of tears have found that
emotional tears contain higher levels of stress hormones than do basal or reflex tears (the
ones that form when you get something in your eye). Emotional tears also contain more
mood-regulating manganese than the other types. Stress ‘tightens muscles and heightens
tension, so when you cry you release some of that", Sideroff says. “Crying activates the
parasympathetic nervous system and restores the body to a state of balance.”

Adults don't cry because

(1) crying is considered unhealthy.
(2) they know how to handle a difficult situation.
(3) they are emotionally strong.

(4) crying is considered a sign of weakness.

[Question ID = 181][Question Description = CTET_P1_PART_5_L2_SET_120_ENGLISH_Q121]

A W N -

1 [Option ID = 721]
2 [Option ID = 722]
3 [Option ID = 723]
4 [Option ID = 724]



2) Directions : Read the passage given below and answer the questions by choosing the best /

most appropriate options :

1. We all cried when we were babies. But now that we're adults, many of us often try to hold
back our tears in the belief that crying — particularly at work or in public — is seen as a sign of
weakness or as something to be ashamed of. But is it? Or is the act of shedding tears actually
healthy?

2. Having a good cry can sometimes be just what the doctor ordered. In fact, some
psychologists even suggest that we may be doing ourselves a disservice by not tearing up
regularly.

3. "Crying activates the body in a healthy way," says Stephen Sideroff a clinical psychologist at
UCLA, “Letting down one's guard and one’s defences is a very positive healthy thing. The
same thing happens when you watch a movie and it touches you and you cry.”

4. The Japanese are such strong believers in the health benefits of crying that they've taken
that wisdom to the next level. Some cities in Japan have “crying clubs” where people come
together to indulge in good sobfests. (To help the tears flow participants watch tearjerkers).
The premise ? Crying releases stress and therefore is a great practice when it comes to
staying mentally healthy.

5. Research is backing up that theory. Studies of the various kinds of tears have found that
emotional tears contain higher levels of stress hormones than do basal or reflex tears (the
ones that form when you get something in your eye). Emotional tears also contain more
mood-regulating manganese than the other types. Stress ‘tightens muscles and heightens
tension, so when you cry you release some of that", Sideroff says. “Crying activates the
parasympathetic nervous system and restores the body to a state of balance.”

Reflex tears flow when

(1) our vision is blurred.
(2) there is infection in the eye.
(3) something gets into our eye.

(4) we are under stress.

[Question ID = 182][Question Description = CTET_P1_PART_5_L2_SET_120_ENGLISH_Q122]
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3) Directions : Read the passage given below and answer the questions by choosing the best /

most appropriate options :

1. We all cried when we were babies. But now that we're adults, many of us often try to hold
back our tears in the belief that crying — particularly at work or in public — is seen as a sign of
weakness or as something to be ashamed of. But is it? Or is the act of shedding tears actually
healthy?

2. Having a good cry can sometimes be just what the doctor ordered. In fact, some
psychologists even suggest that we may be doing ourselves a disservice by not tearing up
regularly.

3. "Crying activates the body in a healthy way," says Stephen Sideroff a clinical psychologist at
UCLA, “Letting down one's guard and one’s defences is a very positive healthy thing. The
same thing happens when you watch a movie and it touches you and you cry.”

4. The Japanese are such strong believers in the health benefits of crying that they've taken
that wisdom to the next level. Some cities in Japan have “crying clubs” where people come
together to indulge in good sobfests. (To help the tears flow participants watch tearjerkers).
The premise ? Crying releases stress and therefore is a great practice when it comes to
staying mentally healthy.

5. Research is backing up that theory. Studies of the various kinds of tears have found that
emotional tears contain higher levels of stress hormones than do basal or reflex tears (the
ones that form when you get something in your eye). Emotional tears also contain more
mood-regulating manganese than the other types. Stress ‘tightens muscles and heightens
tension, so when you cry you release some of that", Sideroff says. “Crying activates the
parasympathetic nervous system and restores the body to a state of balance.”

In order to activate tears people in crying clubs
(1) use tear-inducing eye drops.
(2) watch sad or sentimental movies.

(3) listen to melancholy songs.

(4) sit in a corner and brood.

[Question ID = 183][Question Description = CTET_P1_PART_5_L2_SET_120_ENGLISH_Q123]
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4) Directions : Read the passage given below and answer the questions by choosing the best /

most appropriate options :

1. We all cried when we were babies. But now that we're adults, many of us often try to hold
back our tears in the belief that crying — particularly at work or in public — is seen as a sign of
weakness or as something to be ashamed of. But is it? Or is the act of shedding tears actually
healthy?

2. Having a good cry can sometimes be just what the doctor ordered. In fact, some
psychologists even suggest that we may be doing ourselves a disservice by not tearing up
regularly.

3. "Crying activates the body in a healthy way," says Stephen Sideroff a clinical psychologist at
UCLA, “Letting down one's guard and one’s defences is a very positive healthy thing. The
same thing happens when you watch a movie and it touches you and you cry.”

4. The Japanese are such strong believers in the health benefits of crying that they've taken
that wisdom to the next level. Some cities in Japan have “crying clubs” where people come
together to indulge in good sobfests. (To help the tears flow participants watch tearjerkers).
The premise ? Crying releases stress and therefore is a great practice when it comes to
staying mentally healthy.

5. Research is backing up that theory. Studies of the various kinds of tears have found that
emotional tears contain higher levels of stress hormones than do basal or reflex tears (the
ones that form when you get something in your eye). Emotional tears also contain more
mood-regulating manganese than the other types. Stress ‘tightens muscles and heightens
tension, so when you cry you release some of that", Sideroff says. “Crying activates the
parasympathetic nervous system and restores the body to a state of balance.”

Which of the following statements is not true ?

(1) The Japanese believe that crying helps maintain mental health.
(2) The act of shedding tears by adults is considered shameful.
(3) Emotional tears contain low levels of stress hormones.

(4) Crying in a group can validate the practice of crying.

[Question ID = 184][Question Description = CTET_P1_PART_5_L2_SET_120_ENGLISH_Q124]
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5) Directions : Read the passage given below and answer the questions by choosing the best /

most appropriate options :

1. We all cried when we were babies. But now that we're adults, many of us often try to hold
back our tears in the belief that crying — particularly at work or in public — is seen as a sign of
weakness or as something to be ashamed of. But is it? Or is the act of shedding tears actually
healthy?

2. Having a good cry can sometimes be just what the doctor ordered. In fact, some
psychologists even suggest that we may be doing ourselves a disservice by not tearing up
regularly.

3. "Crying activates the body in a healthy way," says Stephen Sideroff a clinical psychologist at
UCLA, “Letting down one's guard and one’s defences is a very positive healthy thing. The
same thing happens when you watch a movie and it touches you and you cry.”

4. The Japanese are such strong believers in the health benefits of crying that they've taken
that wisdom to the next level. Some cities in Japan have “crying clubs” where people come
together to indulge in good sobfests. (To help the tears flow participants watch tearjerkers).
The premise ? Crying releases stress and therefore is a great practice when it comes to
staying mentally healthy.

5. Research is backing up that theory. Studies of the various kinds of tears have found that
emotional tears contain higher levels of stress hormones than do basal or reflex tears (the
ones that form when you get something in your eye). Emotional tears also contain more
mood-regulating manganese than the other types. Stress ‘tightens muscles and heightens
tension, so when you cry you release some of that", Sideroff says. “Crying activates the
parasympathetic nervous system and restores the body to a state of balance.”

Which of the following words mean the same as ‘particularly’ in Para 1 ?
(1) Definitely

(2) Generally

(3) Specially

(4) Clearly

[Question ID = 185][Question Description = CTET_P1_PART_5_L2_SET_120_ENGLISH_Q125]
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6) Directions : Read the passage given below and answer the questions by choosing the best /

most appropriate options :

1. We all cried when we were babies. But now that we're adults, many of us often try to hold
back our tears in the belief that crying — particularly at work or in public — is seen as a sign of
weakness or as something to be ashamed of. But is it? Or is the act of shedding tears actually
healthy?

2. Having a good cry can sometimes be just what the doctor ordered. In fact, some
psychologists even suggest that we may be doing ourselves a disservice by not tearing up
regularly.

3. "Crying activates the body in a healthy way," says Stephen Sideroff a clinical psychologist at
UCLA, “Letting down one's guard and one’s defences is a very positive healthy thing. The
same thing happens when you watch a movie and it touches you and you cry.”

4. The Japanese are such strong believers in the health benefits of crying that they've taken
that wisdom to the next level. Some cities in Japan have “crying clubs” where people come
together to indulge in good sobfests. (To help the tears flow participants watch tearjerkers).
The premise ? Crying releases stress and therefore is a great practice when it comes to
staying mentally healthy.

5. Research is backing up that theory. Studies of the various kinds of tears have found that
emotional tears contain higher levels of stress hormones than do basal or reflex tears (the
ones that form when you get something in your eye). Emotional tears also contain more
mood-regulating manganese than the other types. Stress ‘tightens muscles and heightens
tension, so when you cry you release some of that", Sideroff says. “Crying activates the
parasympathetic nervous system and restores the body to a state of balance.”

The word opposite in meaning to the word, ‘wisdom’ in Para 4 is
(1) folly

(2) impurity

(3) eccentricity

(4) sagacity

[Question ID = 186][Question Description = CTET_P1_PART_5_L2_SET_120_ENGLISH_Q126]
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7) Directions : Read the passage given below and answer the questions by choosing the best /

most appropriate options :

1. We all cried when we were babies. But now that we're adults, many of us often try to hold
back our tears in the belief that crying — particularly at work or in public — is seen as a sign of
weakness or as something to be ashamed of. But is it? Or is the act of shedding tears actually
healthy?

2. Having a good cry can sometimes be just what the doctor ordered. In fact, some
psychologists even suggest that we may be doing ourselves a disservice by not tearing up
regularly.

3. "Crying activates the body in a healthy way," says Stephen Sideroff a clinical psychologist at
UCLA, “Letting down one's guard and one’s defences is a very positive healthy thing. The
same thing happens when you watch a movie and it touches you and you cry.”

4. The Japanese are such strong believers in the health benefits of crying that they've taken
that wisdom to the next level. Some cities in Japan have “crying clubs” where people come
together to indulge in good sobfests. (To help the tears flow participants watch tearjerkers).
The premise ? Crying releases stress and therefore is a great practice when it comes to
staying mentally healthy.

5. Research is backing up that theory. Studies of the various kinds of tears have found that
emotional tears contain higher levels of stress hormones than do basal or reflex tears (the
ones that form when you get something in your eye). Emotional tears also contain more
mood-regulating manganese than the other types. Stress ‘tightens muscles and heightens
tension, so when you cry you release some of that", Sideroff says. “Crying activates the
parasympathetic nervous system and restores the body to a state of balance.”

The word, ‘often’ in the sentence, “Adults often try to hold back their tears” is a/an
(1) Adverb

(2) Pronoun

(3) Adjective

(4) Noun

[Question ID = 187][Question Description = CTET_P1_PART_5_L2_SET_120_ENGLISH_Q127]
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8) Directions : Read the passage given below and answer the questions by choosing the best /

most appropriate options :

1. We all cried when we were babies. But now that we're adults, many of us often try to hold
back our tears in the belief that crying — particularly at work or in public — is seen as a sign of
weakness or as something to be ashamed of. But is it? Or is the act of shedding tears actually
healthy?

2. Having a good cry can sometimes be just what the doctor ordered. In fact, some
psychologists even suggest that we may be doing ourselves a disservice by not tearing up
regularly.

3. "Crying activates the body in a healthy way," says Stephen Sideroff a clinical psychologist at
UCLA, “Letting down one's guard and one’s defences is a very positive healthy thing. The
same thing happens when you watch a movie and it touches you and you cry.”

4. The Japanese are such strong believers in the health benefits of crying that they've taken
that wisdom to the next level. Some cities in Japan have “crying clubs” where people come
together to indulge in good sobfests. (To help the tears flow participants watch tearjerkers).
The premise ? Crying releases stress and therefore is a great practice when it comes to
staying mentally healthy.

5. Research is backing up that theory. Studies of the various kinds of tears have found that
emotional tears contain higher levels of stress hormones than do basal or reflex tears (the
ones that form when you get something in your eye). Emotional tears also contain more
mood-regulating manganese than the other types. Stress ‘tightens muscles and heightens
tension, so when you cry you release some of that", Sideroff says. “Crying activates the
parasympathetic nervous system and restores the body to a state of balance.”

..... backing up the theory ....
The underlined words mean

1) strong negative reaction

(
(2) extra help or support
(3) in an unfair manner
(

4) loud and enthusiastic behaviour

[Question ID = 188][Question Description = CTET_P1_PART_5_L2_SET_120_ENGLISH_Q128]
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Topic:- ENG_Q129-135_L2_P1_CTET



1) Directions : Read the passage given below and answer the questions by choosing the best /

most appropriate options :

Viking traders went west as far as Newfoundland in the New World, and east as far as the
Volga River, down to Constantinople. When the Vikings left their homelands in the beginning of
the Viking Age in the 790s, they didn't just go to raid and loot. Many of them set out to discover
or open new trade routes, to establish a more secure foundation of future income. In general,
the men of Sweden went east to Russia while the Norwegians and the Danes went to the west
to Ireland and Scotland, England and France. All along the way they traded the goods of the
north such as fur, amber, iron and walrus tusks for goods they needed from other places. They
also traded in slaves.

Vikings raided, traded and settled all along Europe's coasts. For 300 years, churches would
pray to be spared the “wrath of the Norsemen”. The Vikings were equal opportunity traders and
raiders. If they found an unprotected church or monastery, they'd raid. If they came to a
well-defended town, they would set up trade. Early in the Viking Age, trade was done by direct
barter. Eventually, Viking traders obtained a great deal of trade silver and Arabic coins, which
then was used to buy goods.

The primary purpose of Viking traders to go west and east was to
1) settle there as agriculturists.
2) raid and loot.

(
(
(3) satisfy their curiousity about the new lands.
(

4) discover new trade routes.

[Question ID = 189][Question Description = CTET_P1_PART_5_L2_SET_120_ENGLISH_Q129]
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2) Directions : Read the passage given below and answer the questions by choosing the best /

most appropriate options :

Viking traders went west as far as Newfoundland in the New World, and east as far as the
Volga River, down to Constantinople. When the Vikings left their homelands in the beginning of
the Viking Age in the 790s, they didn't just go to raid and loot. Many of them set out to discover
or open new trade routes, to establish a more secure foundation of future income. In general,
the men of Sweden went east to Russia while the Norwegians and the Danes went to the west
to Ireland and Scotland, England and France. All along the way they traded the goods of the
north such as fur, amber, iron and walrus tusks for goods they needed from other places. They
also traded in slaves.

Vikings raided, traded and settled all along Europe's coasts. For 300 years, churches would
pray to be spared the “wrath of the Norsemen”. The Vikings were equal opportunity traders and
raiders. If they found an unprotected church or monastery, they'd raid. If they came to a
well-defended town, they would set up trade. Early in the Viking Age, trade was done by direct
barter. Eventually, Viking traders obtained a great deal of trade silver and Arabic coins, which
then was used to buy goods.

Which of the following did the Vikings noftrade in 7
(1) Amber
(2) lvory
(3) Gold
(4) Slaves

[Question ID = 190][Question Description = CTET_P1_PART_5_L2_SET_120_ENGLISH_Q130]
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3) Directions : Read the passage given below and answer the questions by choosing the best /

most appropriate options :

Viking traders went west as far as Newfoundland in the New World, and east as far as the
Volga River, down to Constantinople. When the Vikings left their homelands in the beginning of
the Viking Age in the 790s, they didn't just go to raid and loot. Many of them set out to discover
or open new trade routes, to establish a more secure foundation of future income. In general,
the men of Sweden went east to Russia while the Norwegians and the Danes went to the west
to Ireland and Scotland, England and France. All along the way they traded the goods of the
north such as fur, amber, iron and walrus tusks for goods they needed from other places. They
also traded in slaves.

Vikings raided, traded and settled all along Europe's coasts. For 300 years, churches would
pray to be spared the “wrath of the Norsemen”. The Vikings were equal opportunity traders and
raiders. If they found an unprotected church or monastery, they'd raid. If they came to a
well-defended town, they would set up trade. Early in the Viking Age, trade was done by direct
barter. Eventually, Viking traders obtained a great deal of trade silver and Arabic coins, which
then was used to buy goods.

Churchmen dreaded the Norsemen because they would

(1) raze holy places.

(2) rob the churches.

(3) desecrate holy shrines.
(

4) torture and kill them.

[Question ID = 191][Question Description = CTET_P1_PART_5_L2_SET_120_ENGLISH_Q131]
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4) Directions : Read the passage given below and answer the questions by choosing the best /

most appropriate options :

Viking traders went west as far as Newfoundland in the New World, and east as far as the
Volga River, down to Constantinople. When the Vikings left their homelands in the beginning of
the Viking Age in the 790s, they didn't just go to raid and loot. Many of them set out to discover
or open new trade routes, to establish a more secure foundation of future income. In general,
the men of Sweden went east to Russia while the Norwegians and the Danes went to the west
to Ireland and Scotland, England and France. All along the way they traded the goods of the
north such as fur, amber, iron and walrus tusks for goods they needed from other places. They
also traded in slaves.

Vikings raided, traded and settled all along Europe's coasts. For 300 years, churches would
pray to be spared the “wrath of the Norsemen”. The Vikings were equal opportunity traders and
raiders. If they found an unprotected church or monastery, they'd raid. If they came to a
well-defended town, they would set up trade. Early in the Viking Age, trade was done by direct
barter. Eventually, Viking traders obtained a great deal of trade silver and Arabic coins, which
then was used to buy goods.

Which of the following statements is nof true ?

(1) The Vikings would rob unprotected holy shrines.

(2) The barter system was prevalent in the Viking age.

(3) The Norsemen bought land with the money they had earned.

(4) The Norsemen changed their strategy according to the situation.

[Question ID = 192][Question Description = CTET_P1_PART_5_L2_SET_120_ENGLISH_Q132]
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5) Directions : Read the passage given below and answer the questions by choosing the best /

most appropriate options :

Viking traders went west as far as Newfoundland in the New World, and east as far as the
Volga River, down to Constantinople. When the Vikings left their homelands in the beginning of
the Viking Age in the 790s, they didn't just go to raid and loot. Many of them set out to discover
or open new trade routes, to establish a more secure foundation of future income. In general,
the men of Sweden went east to Russia while the Norwegians and the Danes went to the west
to Ireland and Scotland, England and France. All along the way they traded the goods of the
north such as fur, amber, iron and walrus tusks for goods they needed from other places. They
also traded in slaves.

Vikings raided, traded and settled all along Europe's coasts. For 300 years, churches would
pray to be spared the “wrath of the Norsemen”. The Vikings were equal opportunity traders and
raiders. If they found an unprotected church or monastery, they'd raid. If they came to a
well-defended town, they would set up trade. Early in the Viking Age, trade was done by direct
barter. Eventually, Viking traders obtained a great deal of trade silver and Arabic coins, which
then was used to buy goods.

The word, ‘secure’ as used in para 1 means
(1) limited

(2) portentous
(3) safe

(4) fortunate

[Question ID = 193][Question Description = CTET_P1_PART_5_L2_SET_120_ENGLISH_Q133]
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6) Directions : Read the passage given below and answer the questions by choosing the best /

most appropriate options :

Viking traders went west as far as Newfoundland in the New World, and east as far as the
Volga River, down to Constantinople. When the Vikings left their homelands in the beginning of
the Viking Age in the 790s, they didn't just go to raid and loot. Many of them set out to discover
or open new trade routes, to establish a more secure foundation of future income. In general,
the men of Sweden went east to Russia while the Norwegians and the Danes went to the west
to Ireland and Scotland, England and France. All along the way they traded the goods of the
north such as fur, amber, iron and walrus tusks for goods they needed from other places. They
also traded in slaves.

Vikings raided, traded and settled all along Europe's coasts. For 300 years, churches would
pray to be spared the “wrath of the Norsemen”. The Vikings were equal opportunity traders and
raiders. If they found an unprotected church or monastery, they'd raid. If they came to a
well-defended town, they would set up trade. Early in the Viking Age, trade was done by direct
barter. Eventually, Viking traders obtained a great deal of trade silver and Arabic coins, which
then was used to buy goods.

The word opposite in meaning to the word, ‘Eventually’ as used in para 2 is
(1) initially

(2) agreeably
(3) periodically
(4) regularly

[Question ID = 194][Question Description = CTET_P1_PART_5_L2_SET_120_ENGLISH_Q134]
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7) Directions : Read the passage given below and answer the questions by choosing the best /

most appropriate options :

Viking traders went west as far as Newfoundland in the New World, and east as far as the
Volga River, down to Constantinople. When the Vikings left their homelands in the beginning of
the Viking Age in the 790s, they didn't just go to raid and loot. Many of them set out to discover
or open new trade routes, to establish a more secure foundation of future income. In general,
the men of Sweden went east to Russia while the Norwegians and the Danes went to the west
to Ireland and Scotland, England and France. All along the way they traded the goods of the
north such as fur, amber, iron and walrus tusks for goods they needed from other places. They
also traded in slaves.

Vikings raided, traded and settled all along Europe's coasts. For 300 years, churches would
pray to be spared the “wrath of the Norsemen”. The Vikings were equal opportunity traders and
raiders. If they found an unprotected church or monastery, they'd raid. If they came to a
well-defended town, they would set up trade. Early in the Viking Age, trade was done by direct
barter. Eventually, Viking traders obtained a great deal of trade silver and Arabic coins, which
then was used to buy goods.

The word, ‘along’ in “.... .... settled all along Europe's coasts” is a/an

(1) Determiner
(2) Pronoun
(3) Preposition
(4) Adjective

[Question ID = 195][Question Description = CTET_P1_PART_5_L2_SET_120_ENGLISH_Q135]
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Topic:- ENG_Q136-150_L2_P1_CTET

1) When planning a lesson, which of the following questions should be lowest in priority ?

1) What kind of activities should you do first in the lesson if students are tired ?

(
(2) What, and how much material can your students cope with ?
(3) Is the teacher willing to teach the lesson ?

(

4) |s there something you can substitute or add to increase student motivation ?

[Question ID = 196][Question Description = CTET_P1_PART_5_L2_SET_120_ENGLISH_Q136]
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1 [Option ID = 781]
2 [Option ID = 782]

. 3 [Option ID = 783]
. 4 [Option ID = 784]

2) On Monday, the reading activity on 'sports and games’ and speaking activity on ‘Internet’ seem

to have no thematic connection with each other. It would be a good idea to

(1) plan a grammar activity on ‘naming words and describing words’ with reading.
(2) think of a speaking activity that relates to sports and games.

(3) think of a speaking activity that relates to student experience.

(

4) practice communicational language used in everyday life in our surroundings.



[Question ID = 197][Question Description = CTET_P1_PART_5_L2_SET_120_ENGLISH_Q137]
1. 1 [Option ID = 785]
2. 2 [Option ID = 786]
3. 3 [Option ID = 787]
4. 4 [Option ID = 788]

3) Which of the following is incorrect ?

(1) Mother tongue should not be used when teaching ancther language.
(2) Texts of Indian origin need to be used in the curriculum.
(3) Grammar should be taught in contexts.

(4) Thematic approach is an effective way for teaching vocabulary.

[Question ID = 198][Question Description = CTET_P1_PART_5_L2_SET_120_ENGLISH_Q138]
1. 1 [Option ID = 789]
2. 2 [Option ID = 790]
3. 3 [Option ID = 791]
4. 4 [Option ID = 792]

4) Which of the following is incorrect ?

1) Language lessons should not incorporate knowledge from other subjects.

(
(2) Texts of Indian origin need to be used in the curriculum.
(3) Pronunciation should be taught in context.

(

4) Collocation is an effective way of teaching vocabulary.

[Question ID = 199][Question Description = CTET_P1_PART_5_L2_SET_120_ENGLISH_Q139]
1. 1 [Option ID = 793]
2. 2 [Option ID = 794]
3. 3 [Option ID = 795]
4. 4 [Option ID = 796]

5) Which of the following steps in a lesson on listening is incorrect ?

1) Using authentic materials for real time listening practice

(
(2) Learning how to pronounce specific vocabulary items
(3) Playing the listening passage only once

(

4) Playing the passage with background noise

[Question ID = 200][Question Description = CTET_P1_PART_5_L2_SET_120_ENGLISH_Q140]
1. 1 [Option ID = 797]
2. 2 [Option ID = 798]
3. 3 [Option ID = 799]
4. 4 [Option ID = 800]

6) Which one of the following is nof among the fundamental principles guiding the natural process
of language lerarning during the learning of the mother tongue ?

(1) Learning to write is not a priority.

(2) Learning by doing plays a significant role.

(3) Emphasis on conveying the message rather than accuracy of language.
(4) Learners are corrected every time they get something wrong.

[Question ID = 201][Question Description = CTET_P1_PART_5_L2_SET_120_ENGLISH_Q141]
1. 1 [Option ID = 801]
2. 2 [Option ID = 802]
3. 3 [Option ID = 803]
4. 4 [Option ID = 804]



7) Which one of the following is nefa part of a reading lesson ?

1) Getting detailed information from the text

(
(2) Looking at headlines and pictures to guess what the text will be about
(3) Understanding the meaning that is not immediately obvious

(

4) |dentifying intonation

[Question ID = 202][Question Description = CTET_P1_PART_5_L2_SET_120_ENGLISH_Q142]
1 [Option ID = 805]
2 [Option ID = 806]
3 [Option ID = 807]
4 [Option ID = 808]
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8) ‘Listening’ is difficult to teach for various reasons. Which one of the following reasons is
inapropriate ?
(1) Teachers are unfamiliar with sub-skills of listening.
(2) We have better knowledge of teaching other skills.
(3) We do not have the infrastructure.
(4) Listening is not given its due place in the curriculum.

[Question ID = 203][Question Description = CTET_P1_PART_5_L2_SET_120_ENGLISH_Q143]
1 [Option ID = 809]
2 [Option ID = 810]
3 [Option ID = 811]
4 [Option ID = 812]
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9) Jayshree is planning to teach a lesson on speaking. She uses two languages in her class.
Which of the following statements on multilingualism is inappropriate ?
Using more than one language in a speaking class

1) disadvantages students cognitively.

(
(2) is a positive approach to language teaching which is worth adopting.
(3) is a natural circumstance.

(

4) facilitates the selection of appropriate language in the intended context.

[Question ID = 204][Question Description = CTET_P1_PART_5_L2_SET_120_ENGLISH_Q144]
1 [Option ID = 813]
2 [Option ID = 814]
3 [Option ID = 815]
4 [Option ID = 816]
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10) Savitha is going to teach a lesson on listening. She uses two languages while teaching her
classes. Which of the following practices is inappropriate in a multilingual classroom ?

(1) Students can write the sounds of the words they hear in their mother tongue, thus
developing their letter-sound correspondence in the target language.

(2) She encourages students to think of cognates (words with similar spellings-‘glass’
English/'gilaas’ Hindi), an important strategy for bilingual readers.

(3) She divides the class into pairs and appoints the person with better proficiency in each pair
as the ‘teacher’.

(4) Students summarise the text in the first language for better understanding in the second
language.

[Question ID = 205][Question Description = CTET_P1_PART_5_L2_SET_120_ENGLISH_Q145]
1. 1 [Option ID = 817]



2. 2 [Option ID = 818]
3. 3 [Option ID = 819]
4. 4 [Option ID = 820]

11) Plurilingual approach to language teaching does not

(1) emphasize diversifying the languages on offer in the education system.

(2) encourage students to learn more than one language.

(3) consider languages and the corresponding socio-cultural experiences as separate mental
compartments.

(4) emphasise an individual's linguistic and cognitive experience and the social and cultural
context of the language.

[Question ID = 206][Question Description = CTET_P1_PART_5_L2_SET_120_ENGLISH_Q146]
1. 1 [Option ID = 821]
2. 2 [Option ID = 822]
3. 3 [Option ID = 823]
4. 4 [Option ID = 824]

12) There are four domains of language use : personal, public, occupational and educational.
Which of the following is least likely to feature in the formal occupational domain ?
(1) WhatsApp messages
(2) Emails between colleagues
(3) Letters of complaint
(4) Financial reports

[Question ID = 207][Question Description = CTET_P1_PART_5_L2_SET_120_ENGLISH_Q147]

1. 1 [Option ID = 825]

2. 2 [Option ID = 826]

3. 3 [Option ID = 827]
4. 4 [Option ID = 828]

13) External conditions under which communication occurs imposes various constraints on the
language user. Physical conditions for speech do pefinclude
(1) clarity of pronunciation.
(2) ambient noise (trains, traffic, static, etc.).
(3) poor production of print.
(4) distortions (telephone lines and public address systems).

[Question ID = 208][Question Description = CTET_P1_PART_5_L2_SET_120_ENGLISH_Q148]

1. 1 [Option ID = 829]

2. 2 [Option ID = 830]

3. 3 [Option ID = 831]
4. 4 [Option ID = 832]

14) Which of the following is nof an effective task-type for teaching vocabulary ?
(1) Dictation
(2) Crossword
(3) Word list
(4) Recitation

[Question ID = 209][Question Description = CTET_P1_PART_5_L2_SET_120_ENGLISH_Q149]
1. 1 [Option ID = 833]
2. 2 [Option ID = 834]
3. 3 [Option ID = 835]



4. 4 [Option ID = 836]

15) Language tasks are vehicles for planning, carrying out and reporting on language learing and
teaching. One of the following is netan appropriate text for listening.
(1) TV news
(2) Podcasts
(3) Performing a role-play
(4) Listening to rai Iwat_y announcements

[Question ID = 210][Question Description = CTET_P1_PART_5_L2_SET_120_ENGLISH_Q150]
1 [Option ID = 837]
2 [Option ID = 838]
3 [Option ID = 839]
4 [Option ID = 840]
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